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3.

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the
inductor is 60 mA. This inductor is of inductance

(1) 1389H
(2) 0138H
(3 1389H
(4) 13888H

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 em. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1) 36 cm towards the mirror

(2)
(3) 30 cm towards the mirror

30 cm away from the mirror

(4) 36 cm away from the mirror

An em wave is propagating in a medium with a
_)

velocity V = V? .

electric field of this em wave is along +y axis.

The instantaneous oscillating

Then the direction of oscillating magnetic field of

the em wave will be along

(1) —xdirection
(2) —zdirection
(3) —y direction

(4) + z direction

The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) zero
@) 60°
(3) .80°
(4) 45°

1.

em deagramnguie Cesfssiulpere &S
feawurpnad 25 md, Wergrerguid WearGenm b

60 mA erafle, Wengretr_eden L

(1) 13:89H
(2) 0-138H
(3) 1-389H
(4) 138-88H

15 em @efwusgnd Qerar_ gm GWbipuledlGh)
40 em Qzreaddd CQummer @esslul (hearargl.
ueou Cerzdu Aesfo Qummermeag 20 cm

GzreaddnE BETEsUIULLTED, QibLigSler
@ LQuwiiey

(1) =4gCGsrad 36 cm Cxrad QHSELD

(2) =uldsis 30 cm Sadsbsagib

(8) =x=Csrad 30 cm Cprsdl @@EGL

(4) =meldEss 36 cm dedsbsdgid

o dastss <@ g om sgdda aPftu
—

A
=Vi desCaissdo utadipg. Sipss sassld
Basmps <ooler flaen  +y  ESD

=aoandpgl. aafléd, s@aeaypib sTHs LeogSlemm

(1) -xdesulie
(2) -z densuliev
(3) -y iesuie
(4) +zdesle
am woutlst Qurmeflar geflaflasd eresr J2
IDHTLD \j'JLJs_II_I_EB‘Q';QGUT Ganmenrid 30°. Geuarefls Lp&s
Qarar(® ouullssdar @@ e@efelasd LTIy

spqwns  wrHpUUEHDg.  geflufldr
aowlarar. gofléspap Garm pUULLsSHd
0HBpnm vsssdar  afCu ea@@el @5
alCu Spoudpg. (ealitysfe Arfudssden)
=sar apuul L ssdler Bgrer LECaTETD

S & LIDDNS

™

(1) &P
(2) 60°
(3) 30°
(4) 45°
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5. In the circuit shown in the figure, the input|5. &CpGsr@s&sLLL (Harer sHBle, o aref(®
voltage V; is 20 V, Vg = 0 and Vg = 0. The Wamanpgsid- (V;) 20 V, Vg = 0 wpmid Veg = 0.
values of Iy, I and B are given by erafle, Iy, Ic opmid B e gLy

20V 20V
(1) Ig=40pA, Io=5mA, p=125 (1) Ig=40pA, Io=5mA, =125
(2) Ig=40uA, Io=10mA, B =250 (2) Ig=40pA, Ic=10mA, =250
(3) Ig=20uA, Io=5mA, f=250 (3) Ig=20uA, Ig=5mA, p=250
(4) Ig=25pA, Io=5mA, B =200 (4) Ig=25pA, Ig=5mA, B=200

6. In a p-n junction diode, change in temperature |8 @® pn  spfeoL Cume, QeutiutiLBSsL)
due to heating LReuste ghubBin Qeuliflens wrhmib
(1) affects the overall V — I characteristics of Q). pn ‘f«'—f’ﬁ"ﬂm ppaugiorer V-1 usmdwene

: ’ Lindld @b :
p-n junction &5
o (2) Ulw WergenLenw WL (Hib LmHé@n
(2) affects only reverse resistance Ao l ® 966
(3) p-nspduller WersenLenw LTEHESTS)
(3) does not affect resistance of p-n junction (4) peCarradiu Bl i s B
(4) affects only forward resistance Lnél&@ b

7. In the combination of the following gates the|7. &£Cyp OGsr@ssuul@erer sisseumier  sHm
output Y can be written in terms of inputs A and <ewblbe, o drafhser A wpmpn B parer eflwimer
B as QauafuS® Y '

Ae Ae l‘
® [\ Be
Be ], >0 - ’/ [—>o Y
(1) A+B (1) A+B
(2) A.B (2) A.B
3 A.B+A.B 3) A.B+A.B
4 A.B+A.B 4 A.B+A.B
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8. The power radiated by a black body is P and it 8 o6 z@&@un@aﬂeﬁr 2Hoed &8 r""’?“i‘ %, Pﬁ:ﬁ’@m
radiates maximum energy at wavelength, 4. If é)@, Ce %ﬁ”mmm, Ay S perpan Dt
smblurmafler  Geuliuflemaw:, g Gumo
the temperature of the black body is now _ 3 5 Py _
changed so that it radiates maximum energy at Y R Sioaperpiis Ao e
wavelength %KO, the power radiated by it QE@G‘”W_" ;ﬁ;ﬁl’m’ sfieiés nP eenprépg.
erefl, n-ar WAL
becomes nP. The value of n is 81 i
o ﬂ (1) ﬁ
256
2 (2) %
2 =
4 (3) 25_.6
256 5%
@) = 4
81 (4 =
4 3
L 9. &G Qurpefaméd Qeuwiucl @re® swbd@ser
aC7 =era) LGLer Glaram _srsab o dremar. (PSE
9. Two wires are made of the same material and s098dr  GnEGEQLHUUTLLY A opmid
have th:_ sallne vol;me.d ’fl]:e ﬁrstdwul'e ]lllas @rar rais sb@lar EnéE@arGuuriy 3A
cross-sectional area A an e second wire " oy : - ;
cross-sectional area 3A. If the length of the ﬁrzi Se5h. gppe sbiSulen fergeg AL siutiispatles
TR : : =za ig ddes F Ceuou@ssiu@dpg erafld
wire is increased by Al on applying a force F, @rertay sbdeuyd 2G5 Sere BLigss
how much force is needed to stretch the second p= -Ja-,..a:- m:i] Bl e o *
wire by the same amount ? S e e
1) F (1) F
@2 9F A
) (3) 4F
(3) 4F (4) GF
o g 10. 100°C &, Queur 558 (1:013 x 10° Nm™2)
10. A sample of 0-1 g of water at 100°C and normal |~ ; TEEISLIE ;
5 -2 : earar 01 g wrdlfl Seoyr eflwns wrpm 54
pressure (1-013 x 10" Nm™°) requires 54 cal of o . 5 X yirin )

» sCanflse 100°C Geutiu yppe Gaamauiu@GSng!.
heat energy to convert to steam 'at 100°C. If the @86 o pusdurer wpefdar Ligwer 167-1 co
volume of the steam produced is 167-1 cc, the cefle ordfler =is HDO LILIE
change in internal energy of the sample, is .

: (1) B845J
(1) 845J (2) 1043J
(2) 104:3J (3) 422J
(3) 4224J (4) 2087J
(4) 2087d 11. Y-y Gster @@ Aflw Csraorerg @lie)
11. A small sphere of radius 7’ falls from rest in a foaldns em umin SHrausdae eupwry
viscc:nus liquid. As a result, heat is pr?duced due Qriwru@Eps. @seér  Severairéd LMWL
to viscous force. The rate of prorliuctmn otj hee_xt Aesfenmd QautiLn o (mandng. Gsrenorang
whenrtgile le)léere attains its terminal velocity, is oawus HesCaussms s@ ybGurgy Gaiiu
Flmpo 5 e 2 meunss aig eiflsl GumEpssDd
; ) r3 1
“ i 2
) r2 3) r°
4) r @ 2
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12. When the light of frequency 2v, (where vq is|12. 2y 2fliQauesr Gane (vo erenuigl Lwen Gpm b
threshold frequency), is incident on a metal < drQeuar) gofl @ 2 CGans gslgear g LGD
plate, the maximum velocity of electrons emitted Gurg, =B8ptu@n eQasigreasefler Gk
is v;. When the frequency of the incident desCausid v; LBsHfen wfiQeuenr Svy ieray
radiation is increased to 5v,, the maximum sfsfssuuLmd, 205 selgen SHGBHS
velocity of electrons emitted from the same plate 2 1flpriu@h aQaslgrarseafiar Quw Fomsbausd
is vo. The ratio of v; to vy is vy, erafle) vy gl Vo perar eldlgw
(n 2: (1 2:1
@ 1:2 2 21:2
3) 4:1 3) 4:1
4) 1:4 (4) 1:4

13. For a radioactive material, half-life is|13. @@ sfflussd QuIGBENES, @ QPWE sTald
10 minutes. If initially there are 600 number of 10 Al iser. giousssfo @mbs Senbamasefian
nuclei, the time taken (in minutes) for the aanenfléens 600, erafld, 450 ogssmEser
disintegration of 450 nuclei is Aevgaip ED srab (HiblsHld)

(1) 15 (1) -15
(2) 20 (2) 20
(3) 30 (3) 30
(4) 10 (4) 10

14. An electron of mass m with an initial velocity |14- m-flep@sren. em aded e,
= A = A
V=Vyi (Vo> 0) enters an electric field V =V,i (Vo> 0) erenmp giouss HesGaussgla,
=1 A i == A
E =-E;i (E; = constant > 0) at t = 0. If Ay 1s t=0floaWe, E =-Eji (Ej=wrdd > 0)
its de-Broglie wavelength initially, then its Sermsdeer peopdng. seausssdld iy eemigl
de-Broglie wavelength at time t is e Gyraed eemapennd eafled, t Crrsdd wumsd

Sjeaherid

(1) A @D A

A
@ — 2 —r0

[1+-e 0-1:] 1+-280

mVO l'[lVg

(3) Apt (3) Apt
ek s [ B0

(4 gl dae——01 (4) 0( +

15. The ratio of kinetic energy to the total energy of | 15. @apgrser siameiler @ Gurt spbigemer @O
an electron in a Bohr orbit of the hydrogen atom, gQastgrallar  @ubs Spp@s@h  Cwis
is 2LDDOSGDTET 556]

1 1:-2 (1) 1:-2
(2) 11 2 1:1
3 2:-1 (3) 2:-1
4 1:-1 (4) 1:-1
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16. A tuning fork is used to produce resonance in a|16. g sdranmaé GEnie gsflosoa ghuBss
glass tube. The length of the air column in this @@sssaa LLELESSLLGEDS. S0 B
tube can be adjusted by a variable piston. At sane sQsren®  Gmdgudr oear &
room temper-cltuni1 Ofd 2;7;((1) two dsggcessivefa‘ sbUsSen Bersans Qe i b
resonances are produced a em an cm 0 : L e
column length. I};' the frequency of the tuning fork i mgmueﬁmwﬂw' %@ﬁﬁ@g@ &
is 320 Hz, the velocity of sound in air at 27°C is Qg,éﬂmfmfm ) fem L.D'r_T)‘QJLD 3 . o '[S‘GIT

2 marsstiLREng. Gosssmeufer o8l
(1) 300 m/s 320 Hz arafled, 27°C 4@ gl er HensGousion
(2) 330m/s (1) 300 m/s
(3) 350 m/s '? ggg gs

(3) S
(4) 339m/s (4) 339 m/s

17. The electrostatic force between the metal plates [17- Q Slérgnii o whpd A LY Gsram. &)
of an isolated parallel plate capacitor C having a sa(0 WarGsedler C GfssuulGerer G
charge @ and area A, is s50sEssE @ Cu sramiu@n e Wer
(1) inversely proportional to the distance aswireng

between the plates. (1) ss@s@EpsE e Liul L GgreeasihE
(2) independent of the distance between the alireldls QUTmsSpeL WS

plates. (2) sa(sEpsE el tiulL dgramamamel

SFMOm P
(3) g?oportional to the square root of the (3) g:&?U@i%éi@ @erLcul L QsraedinE
istance between the plates. Bmwy e alsgl QUTESSPEHL LI

(4) linearly proportional to the distance (4) ss@s@Erés Qe L Ggreaeahe

between the plates. Cpflue st AunpsspeL LI

18. A pendulum is hung from the roof of a 18, “f_aj&frfr - hf_J’ pRer  may
sufficiently high building and is moving freely to PT:';—_ F;J;_ é’ S e mﬂ;
and fro like a simple harmonic oscillator. The il L BB AP Lg;‘hgd 20
acceleration of the bob of the pendulum is SRR n_oanan argih G
20 m/s? at a distance of 5 m from the mean ‘fﬁlaf‘@w”gg eimg. et Heade
position. The time period of oscillation is s Qprewdd smsw updar (POSsD 20
D " 1s aafla, smaa) Crrbd

(1) 1s
(2) 2m s (2) 2m s
(3) 2s (3) 2s ‘
4) 78 (4) m@ms J

19. An electron falls from rest through a vertical k) Z?;}T uﬁlwn;:rmgg Lﬂéf—ii)ﬁjf %ﬁz.j & @Gigiiza
distance h in a uniform and vertically upward o Deyfeeaaim Grbiakaia
directed electric field E. The direction of electric i%’ 8 ol Obe! @'5@
field is now reversed, keeping its magnitude the ‘“g’_”“‘“"?” . G Gﬂ@é’]’m Sl- @L@H”q'
same. A proton is allowed to fall from rest in it Samjwsdar  sfere)  SiigGu  @assl
through the same vertical distance h. The time of fasol@d Hrpouiudpg. 86 UG
fall of the electron, in comparison to the time of ey e eosdaiet <Gy 2wyd h sier
fall of the proton is £Gp ey " @&uhwuu%@m@- ;Fﬂ_

er@es gmer aflapy Gy emey LGFmLma .
1)  equal Cpr sieTeL6b guﬂ!r_{m
(2) smaller (1) swwreg
(3) 10 times greater @) Adug
(3) 10 wirig Quflug
(4) 5 times greater (4) 5 wLikiE Quilwug _
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21.

22.

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
Ky, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Kg>K,>K;
(2) K <Kg<K;,
(3 Kg<K,<K;
(4) Kp>Kp>K;

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K, : (K, + K,) for

the sphere is

&l 255
(2) 7:10
(3) 10:7
(4) 5:7

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is net correct ?

(1) ‘g on the Earth will not change.
(2) Raindrops will fall faster.

(3) Time period of a -simpiel pendulum on the
Earth would decrease.

(4) Walking on the ground would become more
difficult.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Angular momentum

(2)  Angular velocity

(3)  Rotational kinetic energy
(4) Moment of inertia

20. flueas spdembd ﬁe‘nmf_l__uunmg,uﬁ}@ QB
Canefler @Quiss <bhme A, B womib C flevasafie
woplu K,, Kz wpmd Ko wyen. @huer
UL sriguery S- FHeauded Qma@b Cung)
AC eerug Quilu eiansud SB g arg AC-pe
Cpir Gésnsa)b o drerg

B
A/E’_\C

21.

22.

\IS\_//
(2) KA C-KB < KC
(4) KA > KB >, KC:

20 H& Csmerorerg 2 (m@sd BQusssdla
2arangl, e GERD @Qusssda. em QunmerTargy
QLuluuiie) @ués ebnd (Kp) wppib spné
Qués opd (K) @rarorysd SCsCersHe

G Bl(mé@Lb. Grenfled, L &Careargfhanar
K (K + K ssay

(1) 2:5

2) 7:10

(3 10:7

4) 5:7

Ghwafler fleop Lsg wLkE GMDEUTSaYD, L

wrhlall  usg bLBIE Hsorse)n sjeraii g6

Bmpsre, Wetaumb amphld g SIDTES)

(1) yefluguQer Bg) ‘g-er iy LOTOHTG).

(2)  vewsgelsdr Caswrs SfpriEb.

(3) yellbe safl casdlenr sre imeey GCr
GO

(4)  senyuiled pLLILg Wsabd Hyowors BmEGLD.

am HsCaraiorerg wiger s0ssi oE@sll 1)) 1)

slgdar Gaelley saefismsuns swodng.

S flevpew wTHOILD g6 <4Td L (Hib

SgsflésiL@ps.  erafle, ALsCararsangL

QummSSLL 16 Seneumaiaraipdla aIhs

QupGue srrefluners) wrHTOED JONGETE

(1)  Gsmenr 2 figd

(2) Csrewmr HansGousmid
(3)  sph# Quiss eybme
) deuusfiper
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24. A metallic rod of mass per unit length|24, & =as fesses 05 ke n ' Sesdsman
05 kg m™! is lying horizontally on a smooth 2 Corss 58 9. S o 55 & 30° smise
inclined plane which makes an angle of 30° with “;ﬁr‘fﬁﬂ'ﬁ&‘m- Sgeg e se  sTUgETSS
the horizontal. The rod is not allowed to slide Z= _g"—"ﬁf'—'_'h—@_“""ﬁ; Spamas ‘5’_3951‘@535“
down by flowing a current through it when a gf# | OGRS 025 T an
magnetic field of induction 0-25 T is acting on it SESRRL S 'df“_m“f‘u@g’ﬁ;’“f;_s' ifm G”.
in the vertical direction. The current flowing in i L e -._:..u_p.nun; mmuu? DQ' &
the rod to keep it stati . sPeu pEod  Heeuns easfmss i

e rod to keep it stationary is SliCies o s pb 18 Corrri s 15
(2) 714A (2) T14A
(3) 1476 A {(3) 3476A
(4) 598A (4) 598A

25. An inductor 20 mH, a capacitor 100 uF and a|25- &5 Wﬁ 20 =mH ap HaGssd 100
resistor 50 Q are connected in series across a 2o 86 Sese 50 Q ‘%‘@_”"“T s
source of emf, V = 10 sin 314 t. The power loss in éw’f’ﬁ_ﬁ' _em-f, V=1 - 314 t &5 Qo
the cireuit is Searssiu paem §8s sH59 gHuBb YO

Bpoy
(1) 113 W .

1) 1-13W
(2) 079W

2y 0-T9W
(3) 274 W

3) 274W
4) 043 W '

4) 043 W

26. 4: thin dlamalgnetlc rod is placed vertically % o Sasmps  soa  peoaserido. G

etween' the poles of an electr_omagnet. When the - PRCET adi ——
current in the electromagnet is switched on, then SatsiiLl Qetang.  Oansmss  OaCaT L wre
the diamagnetic rod is pushed up, out of the =@ofssiulLgb, GOl sMps LwsHe
L horizontal magnetic field. Hence the rod gains 57 arpsssll  Cuwatprsd sereruuBHps
L gravitational potential energy. The work saCa sfurerg miiy WBaflow g hoael
required to do this comes from Qupdps. @shE Csemaurar Caumaau Qg
(1) the induced electric field due to the aso=3
changing magnetic field (1) smpal Y wrhpsdermd grewr. LiLi(Hibd
(2) the current source _ "ae_ﬁ’—’mm
(3) the lattice structure of the material of the ol Q,oem:.- _ _
sl (3)  sfQsuwciuc Gerer Qummmefer
. 2anfl&Careney &1L anioliy
(4) the magnetic field . .
(4) smpstiend

27.  Current sensitivity of a moving coil galvanometer |27. a Quiis  smer  stoaGarr  Sr_fd
is 5 div/mA and its voltage sensitivity (angular BenCGerniL sawiey muUubd 5 divvmA wHm
deflection per unit voltage applied) is 20 div/V. Hlerenpss oewitey mLub 20 div/V  aefd
The resistance of the galvanometer is sreeuCert Bt fler Bengen
(1) 500Q (1) 5002
(2) 40Q (2) 40Q
(3) 250Q (3) 250Q
(4) 25Q 4 25Q
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28"

29.

30.

31.

The volume (V) of a monatomic gas varies with 28,

its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

v

T

B
A
O —>T
2
1 £
(1) Z
2
2 |
(2) z
1
(3) 3
2
4 et
(4) 3

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed

organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 16ecm

(2) 132cm
(3) 12:-5cm
(4) 8cm

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

(1) 12:5%
(2) 26:8%
(3) 6:25%
(4) 20%

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2:76 x 1677° kg

Boltzmann’s constant kg = 1-38 x 1022 JK ™)
(1) 1254x10*K
2) 2-508x10*K
(3) 5016x10*°K
(4) 8360x10*K

31.

om epop <@ ewryeldar umw (V) wrgur®
ogar  Qaufeeewd (T)  Cdurssssrer
aerCsn@ uLsfd smiLuul @derg. ULSEHD
fow A Gd@ps feoo B pE wmpod Gung
amyalemd Qsuwriuce GCeumas@h, SigarTd
o ' sauruul L QeitiugSp@oner 5]

1

0 —>T
(D 4
7
(2) ..2_
5
(3) L)
3
(4) g
3

am Snbs rsar @prier sigiueL giteem
SaE GO Pou isd Gprudar gpaTpreig)
Efesdss FwOIGD. (P piser Gpruler perd
20 cm, erafled, Hnps isen @Gwruier Herb

(1) 16 cm 1 3

(2) 132c¢m

(3) 12:5cm

(4) 8cm

2Aar  ceopfeen yaaseh Qsrdfleel

Lerafls@nd @eLCu Gsueuldnd em Gordu
Sauiu uipdrsder Smer

(1) 12-6%
2) 268%
(3) 626%
4) 20%

aps Qaiufoaudie o&figd posmDTES)
el mhe NPULHE Cedes Comeiwrear rms
Cassangl QumLd

(a8 aposalar Heop (m) = 276 x 10726 kg
CurarsuGoan rfle ky = 138 x 10723 JK
QasrB&siul (Herersl)

(1) 1254x10*K

2) 2508x10*K

(3) 5016x10*K

(4) 8360x10*K
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32.

33.

34.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘Ww. At a
particular angle of incidence ‘7', it is found that
the reflected and refracted rays are
perpendicular to each other. Which of the
following options is correct for this situation ?

(1) i=tan? [l]
B

(2) Reflected light is polarised with its electric
vector parallel to the plane of incidence

(8) i=sint [lJ
T
(4) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to
be changed to

(1) 1-7mm
(2) 1-8mm
(3) 21mm
(4) 19mm

An astronomical refracting telescope will have
large angular magnification and high angular
resolution, when it has an objective lens of

(1) small focal length and small diameter

(2) small focal length and large diameter

(3) large focal length and large diameter

(4) large focal length and small diameter

32.

33.

34.

W esfdese carlaran swger uglider Sz
spddsss ac sodacapr gaflu@dpgy. ¢6
@08 uECsrard T-é Grdudiiy sHme
dassSms aanstaran Csu@ssts QHLUUS

o

Gisé GRS,

Sausasaiie abss apy slurarg

= fee= FETs

-3/ 1
(1} 1=t=m =
(2) SsSusl=, e Sigen L6\ etreaf] e
Ses = eve UuBsasdhe Qaandasuds
seSessan
(3) i=sin’ l
4 Ssiociis, =3 (BT Wletranflus
Gas sm evaes  ulBsasdnE  CEhEs
Sesda sedassand
e w= Srnec Ssa ufiCGergeend
Seassis Ba o d ey 2
vueaUEssouEt eellar si@apard A = 5896 4
Saradsh Saa@gsd QeLuul

Caraw ssan 020° 5CGs A whpid D whliGbhg

Csraw  =sasws 021°  oera oiflsfss

SsaseEsée QaLuulL Qgraadd GCaamauws
wrnmib

(1) 1'7mm

(2) 1-8mm

(3) 2-1mm

(4) 19mm

aem arellud galdosd Gzreoe GCprédurarg

=ds Garewm 2 mUuOUEBSEWD, 2wi Cene

amroanfaid Qenamghés, SiFer  GUTEHOT(HE

dlvaewrang

(1) sopps Glusgmmd LHHD GOPHS HILLL
Qarerrig.més Ceuant(BHib

(2) sonbs GAwsgmd wHpD s el
Glaramy (rés GCeuam(BLd

(3) =fs Geflwussmd wHPD s AL
Ganamigmas Ceusr(hib

4) sifs Gefluggd wHpd Afw el Ll
Qanairg més Ceuam(@Hid
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35. A body initially at rest and sliding along a‘35. goubESSID guafeoudgdme 6 QupeTTEaTS)
frictionless track from a height h (as shown in h-gmqgglaﬂ@g% o priteupn  UTenSudled (uLgdle
the figure) just completes a vertical circle of STl WG T Pordl @ Qemigdsner el

diameter AB = D. The height h is equal to sHeD WSS L& shflen e AB =
caflé, e winib h H@ swbraEg)
h B
L I
i
A
@ 2o ;
& 1 =D
3p 2
(2) =
2 (2) éD
- 2
3y —-D
b 5 (3) ?B—D
4 D 4 D -
36. Three objects, A : (a solid sphere), B : (a thin |36. apary QuIGHETSET A : (¢ S Gererb), B: (&®m
circular disk) and C : (& circular ring), each have Quddiu el ai@®) wHpid C : (@m el
the same mass M and radius R. They all spin cienenwih)  geuGaurarpid @Cr  Sierey Heop M
with the same angular speed o about their own ohmib 27D R Qarer_eeun@h a8
symmetry axes. The amounts of work (W) sseeniup® @Gy eTay CarardmsCasd ©-6
required to bring them to rest, would satisfy the sddlanper. sapon PLAODEES Qaran(®
relation amaushE Comenwmer Cama <era; (W)
(1) Wiy>We>Wp néient LisS0sLeISDHSTET Qgmifry
@ We>Wpg>Wau (1) Wa>We>Wg
2) W
3) Wg>Wy>We ) Wg>Wp>Wa
(3) Wp>Wur>W¢
(4) Wuo>Wg>We : :
(4) WA > WB o WC
37. Which one of the following statements is 37. Qaraumb smpHe a5 SADITS
incorrect ? (1) awse Tmiesd Gemaid Her SIOGSDETE
(1) Coefficient of sliding friction has Qsnemgi-
dimensions of length. (2) = (pEsb 2smiey m@&@m
(9) Rolling friction is smaller than sliding 2 TTLEDeISSHTLIGGIL0 SBlwig.
friction. ) (3) ogmiey elenswinangl gty QUEsSDS
(3) Frictional force opposes the relative motion.  ograndmaigh. ) o
(4) Limiting value of static friction is directly (4 B o Q'U"ufeﬂw QUM L.Dfé’]u"' @gb "&>8!
: : ardlrellenan& Cpicldsl QUIBSSPO LS
proportional to normal reaction. ] ) ) X
38. m-fapdere. BEGD Qsn@ly @D 4m
38. A moving block having mass mi, collides with SepQarar_ Heaurs o grer  QamELder Bsl
another stationary block having mass 4m. The Corsd Comsabe 9@ HopEopeure
lighter block to fter collision. Wh - S EoRe
ighter | ock comes resti after collision. en AsrELY gliafl@esE auBADS.- Bep@epeiTen
the initial velocity of the lighter block is v, then Q e ; Gousi ey
. o et sruden  HasS HeosCeausd vV CTENED:
the value of coefficient of restitution (e) will be : : . . :
i HenaiSi §l& GeED (e) e wil
(1) 8 (1) 04
(2) 05 (2) 05
(3) 08 (3) 08
(4) 025 (4) 025
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40.

41.

A carbon resistor of (47 + 4-7) kQ is to be marked
with rings of different colours for its
identification. The colour code sequence will be

(1) Green— Orange — Violet — Gold
(2) Violet— Yellow — Orange — Silver
(3) Yellow — Green — Violet — Gold

(4) Yellow — Violet — Orange — Silver

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is L
Now, the ‘0’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 L. The value of ‘n’ is

(L 9

(2) 10
(3) 20
(4) 11

A battery consists of a variable number ‘n’ of
jdentical cells (having internal resistance
each) which are connected in series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I
(6 T' i

g5 svuar Searger (47 £ 4-7) kQ ez oige

wE e samHeughHeETs - cuement  eUenar
Eofl 5 eLwnarb @i Peeng. 95
aarass =000 O auflenssdyon

(1) ses - =7G& - 2aigm - Qureralipo

(2) == - s - YTEHs - Qaudrafl

(3) co=s - Uios - sagn - Qunerafipd

(4) oEss - =57 - YTEHE - Qeuerafl

sz Sasa. R Qarel ‘n’-eremant Eengudleone

Pesan s+ s 7 Qeartbdes R ssdlerse
Qerar 5= E e emf Qsremgiorer L8
sofs & SeaessluliDg. @dler  Lmuy
SeSar . = I 24&1D. @uGEumps
nsEasaste s (Slehna enL_SeT <G

Aasass & Lis ZoaSd Geoamssiiur

s SaGer . o 10 1 gépg aaflld ‘0
ey
(n 9
(2 18
3 20
4y 11
aF dasad Gsrgluureagn wrHLE eramenfléen
2-C=a Sarzonsamars Q@ amresor (HeTens
[gaCarada ssdaseoLyb T Gsrear g
e Ban 7 Pealile Gearssiul(Herend

Aasas Asrsudea waarsdr ganblanemésiuL

Satar L ores | sesstupdng. Geeud
aarlsrine ops @ap 1 wdmd  N-Hf
e Cuwres sfiurer AgmfeL e Ssdng

0O ~—n
O —n
I  — |
@ ! | M.
(2)
O —>n
O —n
w1l
/_’  §
(3) T T
! (3)
0O —>n
0O —n
I
I
(4) T T
(4)
0 —>n
(@) —>n
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42, A ttl)y car with charge q moves on a ﬁ'lctmnless‘ 42 e Béniwd E @i présphemd q Bagniitb
horizontal plane surfacgunder the influence of 2 | Qsnen. g QUIBED STTeE 2 ITiepD HevLgar
uniform electric field E . Due to the force gE. | _ —
its velocity increases from 0 to 6 m/s in on€| uqufﬁlﬂ? gl ﬁsﬁ@m@- EE;&?EU:;M@ 12515:;4 &ra
second duration. At that instant the direction of | SRS S ﬁmfgu_ma; i oba s P8

. . o LTI EGDE. SibsssaHHld Haryesdear  Sag
the field is reversed. The car continues to move orpiLGSps. @b Lesdear sresple sTTEE
for two more seconds under the influence of this | QsnLitsg Cogib @rean® efarmgser petdng. aafle 0
field. The average velocity and the average speed | Smps 3 eanmgsafidr snfler gnpafl HeneGausd wHHID
of the toy car between 0 to 3 seconds are smafl eflenyey
respectively I (1) 1-5m/s, 3m/s
(1) 15m/s, 3m/s | (2) 2m/s, 4m/s
(2) 2m/fs, 4m/s (3) 1m/s, 3:5m/s
(3) 1m/s, 3-5m/s (4) 1m/s, 3m/s
(4) 1m/s, 3m/s 43, m-fepQ@smam_ QAsrEUL Qe 0-rmie&GCamemTiD

43. A block of mass m is placed on a smooth inclined Qasnem. ABC erap euipeu i f”@ﬁﬁtﬁ':@m
wedge ABC of inclination 8 as shown in the B eveussiLL(HeTargl ULS fU’EWL—L—UU'—@G‘TﬁfTQ-
figure. The wedge is given an acceleration ‘&’ STLSETONGTS  GUOLILDONS a  Siarey (__l,D@_&E'LD
towards the right. The relation between a and & Qsrhssuu@ing. @snGuy Wlujﬁﬁ”ﬁs@m Ljﬂbé!
for the block to remain stationary on the wedge feours @@UusHsTar  a . LHHID 6 »®
is Ren_Guiwimesr Qg

A A

2 &
a a
C B C : B
(1) a=gtanB (1) a=gtan9
@ a=—2= ) a=—0"

cosec 0 cosec 0
(3) a=gcosB (3) a=gecosB
4) a= g 4) a= g

sin 6 sin 0

44. A student measured the diameter of a small steel | 44. &@ wrawat WBeardbpereal 0-001 cm Qarar §H&
ball using a screw gauge of least count orclews QsTaTH, @m AP GHbLY Gedrigen
0-001 em. The main scale reading is 5 mm and A sawp sesdprt. HBG sjaredluflen  ppe
zero of circular scale division coincides with seray UL 5 mm wHPIDd UL HeTey 1§flel e
95 divisions above the reference level. If screw sfuwrarg CuopGsmar oL s8DE 26 OfesEnsd
gauge has a zero error of — 0-004 cm, the correct Cod  @ERslaabgeTeTs. Ame el
diameter of the ball is _ 0-004 cm sifGenyp Qareamig eresie, (&G0 1. 60T
(1) 0-529 cm sAwrar afl LD,

(2) 0521 em (1) 0-529 cm
(3) 0053 cm (2) 0-521 cm
(4) 0-525 cm % " " H (3) 0083 cm

45. The moment of the force, F =41 +5] —6k at (4) 0525 cm

(2. 0, — 3), about the point (2, — 2, — 2), is given by 45. yarell (2,0, 3) @, yerefl (2, -2, - 2) UOLTGES,
A A =5 A
(1) -Ti—4j —8]2 Hevs F :411\ +53'\ -6k penen 2 hgsdss HHUS

A A A o 4 A

2) -8i-4j -7k 1) -71i-4j-8k
i — = A A A

S 3) -17i-8j -4k

: A 4 A A A
(4) —-4i —j -8k (4) —-4i -3 -8k
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\16.\ Which of the following hormones can play a|46. e S CurBaeda psdu UG PTG,
significant role in osteoporosis ? St .
\ gt €5

(1 \\Iiarathyroid hormone and Prolactin T SR —

(2) Aldosterone and Prolactin il

(4) Progesterone and Aldosterone (3) =smgpe obgd umTT@sTTUR anmriGLome

(4} SprogeaCira wpmbd e e Gymen
47. Which of the following is an amino acid derived

hormone ? 47. =BG = dasddmhg QamemTyLILIL

(1) Estriol peilars &5 7

(2) Epinephrine (1) meoaasSe S

(3) Estradiol (@ enSCs i

(4 Ecdysone (3) ey Curd

4 2= GCse
48. Which of the following structures or regions is . : )
incorrectly paired with its function ? 48, SepusmSoe aps  Sewly S
G Sen® sasprs QurpHSwerer ?
(1) Corpus callosum band of fibers 1 _ e & ; Q
= st g s0@esh: @@ LHDD FLF
connecting left and Buscmnba
right cerebral ®%§ :
hemispheres. S TANEIAERST
Bevema@h B SHODHE

(2) Medulla oblongata : controls respiration (2 Coaaar - seunsh wHmb STig G

anicll cardiovascular Py S ST SieflEamssama
es. R
RS 5L QUUESEEDS-

(3) Hypothalamus production of (3) aep umsesce: STUY anmiGorersemer
releasing hormones = pusd Qawigl, G ub,
and regulation of L2 nHnb STES®S
temperature, EUEEz1D.
hunger and thirst. e T

4) Sa8s Carssd - peTda U uESsemar

(4) Limbic system consists of fibre SeoaniGh BT
tracts that =SEDEDET
interconnect QeramaFmEGD. QuUEs
different regions of Qsuidsee
brain; controls s BUUBSSID.
movement.

49. weils sawseta =@ et 2a(B(Halbd oSl cbens
49. The transparent lens in the human eye is held in ssa Boada aza b AnisslLGEDS
its place by ' (1) SSuf 2 puCurd GeepinEER
(1) smooth muscles attached to the ciliary body Quendsssa
; q e Nasi n g
(2) ligaments attached to the ciliary body @ ESwfl epiGur® 8 @A GSE!
: il asCwanHsar
(3) smooth muscles attached to the iris 3) pAaCs® GoamsHrsen Quodrdasad
(4) ligaments attached to the iris (4) milaGsi) HearbdnsEd &0 HEET
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The amnion of mammalian embryo is derived 50

L@l g &6l e &(medlgyaTer gybefluimen

50.
from caupdlempa aremyuuBang ?
A ecisiirn and endoderm (1) e&GLr@Quind whpb erarGLrblimb
d' (2) er&CLnGLmb wimb BCsrQL b
(@) .setadertaud mesoderm (3) BCsm@Lmbd whmid GCyTCumIarmev
(3} mesoderm and trophohlast | (4) erar QU@L b I-Dmm!w BCsrQL b
(4) endoderm and mesoderm - ) . . : 3
51. speppee urmoflss Germsarreurd &résuuBDn
51. Hormones secreted by the placenta to maintain | aoriGurensdr wLreas ?
SR AT (1) hCG, yCGrr@gevt GLrger, FravIgTaReT,
G @p&ECanaTT g STURSET
(1) hCG, pro_ges'togens, estrogens, (2)  hCG, hPL, |Crr@sgevt GLger,
glucocorticoids LGy Teo g e
(2) hCG, hPL, progestogens, prolactin (3) hCG, hPL, 4 CyrnG@smanvr GLmggelr, meiviq regem
(3) hCG, hPL, progestogens, estrogens 4) hci:m hP;" revig e,  Meonsdlar,
25 L&lem
(4) hCG, hPL, estrogens, relaxin, oxytocin
52. ‘znCamell’ ereiin S(HSSML STHELD
52. The contraceptive ‘SAHELI’ (1) yewris@éE Wer LweaTLRSsILGED
(1) is a post-coital contraceptive. | S(HSSML FTHENID.
(2) Dblocks estrogen receptors in the uterus, (2) 5(@“@“@@'“? memasfﬁ i '9536"
preventing eggs from getting implanted. s G UHLE®E SOADS.-
(8) isanIUD @ agiil
- (4) Quemseaid FevlgTmer jeaTaal S sMSs)
(4) increases the concentration of estrogen and sy Qsd Qaichursme sHSHDS.
prevents ovulation in females.
53. eUundCurGgmeaiflevessd
53. The difference between spermiogenesis and SAunfGuesaus@h e ufler e drer
spermiation is Cagur@eer ag ?
(1) In spermiogenesis spermatozoa are formed. 1) d?guﬁﬁsunggaﬂﬁdu@m i
i o QUL rGasmeundser o (heumdlemner,
Wile an SpEI'?ﬂJaffIOD s.permatozoa’ i @@QundCGueseafld sv@uimo’ GLrGsraingadr
released from sertoli cells into the cavity of . ) )
I Qe flaflQuren @weflaer
seminiferous tubules. QasellLiu@Hemer
(2) In spermiogenesis spermatids are formed, (2)  wQumnfGurtmefflavele ao@uimom g Hser
while in spermiation spermatozoa are o (e Tdlenmer; sGuMAGueayefd
formed. auGLmoLl LT Cemeursser 2 (heumdlemmer
(3) In spermiogenesis spermatozoa from sertoli @ mgu:ﬂﬂemﬁaéﬂ@@@&’%agmhnﬁ )
cells are released into the cavity of ggf;li‘jﬂ nag@mng m)@:gmlf LG eTiasar
Foi s i . e F oo L”IG‘U @lip @IGTT
I
seminiferous tubules, while in spermiation Gaiehid op e waLEGueselid
spermatozoa are formed. : ;g e .
eu@uiror GLnGeneurdser o (peundlarper
(4) In spermiogenesis spermatozoa are formed, 4)  e@@uinfCurEgeafsvela
while in spermiation spermatids are @utl LrGsmaursser o (meundlenper;
formed. av@urflCueagpaia ev@umom g H&er
2 (6. & 61 &
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E«i\A woman has an X-linked condition on one of her
X chromosomes. This chromosome can be
inherited by -

55.

56.

57. AGGTATCGCAT is a sequence from the coding

580

According to Hugo de Vries, the mechanism of

(1) Minor mutations

(2) Multiple step mutations

(3) Phenotypic variations

(4) Saltation

Al of the following are part of an operon except
(1) a promoter

(2) an operator

(1) Both sons and daughters
(2) Only daughters

(3) Only grandchildren

(4) Only sons

evolution is

an enhancer
structural genes

(3)
(4)

strand of a gene. What will be the corresponding

sequence of the transcribed mRNA ?
(1) . UCCAUAGCGUA
(2) AGGUAUCGCAU
(3) ACCUAUGCGAU
(4) UGGTUTCGCAT

Match the items given in Column I with those in
Column IT and select the correct option given
below :

Column I Column IT
a.  Proliferative Phase i. Breakdown of
endometrial
lining
b.  Secretory Phase il. Follicular Phase
¢.  Menstruation iii. Luteal Phase
a b c
(1) i i i
(2) i i i
(3) ii iii i
(4 i i i

54,

55.

57.

en GuarefigneLw X &CrrGwrBsmié
X- Saary Cardpsiu srreladr 2_arerClgefl

Ssae 262 saapaplle Qupiueuirser wim ?
(1) wosd wiHged
(2) wsass ol G

(8) CupSesasda v @b

(4} oss&sa vl o

sfutsr & &fed Ly ufl@rmogler Gewdape

>

aswsy

(1) Sduwa; Seforhphisdr

2 e sfew Setomhpuser
(P @G wipur@ser

4 =2l ascaisar

Seagasadna  gurmCam( Cgmiripmes
=2

(1 B=udul® wrugy

@ Buss wrugy

B =554 vjugn

sl LDLIgR))

o5 g slupen Qeyule oerar auflas
AGGTATCGCAT eafle), ugQu@sstuc.. mRNA
Se =sa AsmfueLw aflans argy) ?

1) UCCAUAGCGUA
3 AGGUAUCGCAU
=2 ACCUAUGCGAU
& UGGTUTCGCAT

£5sa sine sflure Sa ous CampQs(hss:
Iz Cuszsd ayss
= Al
s G rQor fw
ek fAavsgd

& s=ss- sec 5 Lsdlgont Hew

€ coxgi B ar 0o flow
= b

i &=\ 3 =1

2} m ii i

3 = il i

£) 1 i1l ii
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59.

60.

61.

63.

In which disease does mosquito transmitted |59.

pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Amoebiasis

(2) Elephantiasis

(3) Ringworm disease

(4) Ascariasis

Among the following sets of examples for
divergent evolution, select the incorrect option :
(1) Eye of octopus, bat and man

(2) Forelimbs of man, bat and cheetah

(3) Brain of bat, man and cheetah

(4) Heart of bat, man and cheetah

The similarity of bone structure in the forelimbs | g1.

of many vertebrates is an example of
(1) Adaptive radiation

(2) Homology

(3) Convergent evolution

(4) Analogy

Which of the following is mof an autoimmune
disease ?

(1) Vitiligo

(2) Psoriasis

(3) Alzheimer’s disease

(4) Rheumatoid arthritis

Which of the foI]bwing characteristics represent 63

‘Inheritance of blood groups’ in humans ?
a. Dominance

b. Co-dominance

(i Multiple allele

d Incomplete dominance

e Polygenic inheritance

(1) a,cande

(2) b,cande
(3) b,dande
(4) a,bandc

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin E
(2) Vitamin D
(3) Vitamin By,

(4) Vitamin A

60.

62.

e Grmi Carameianme FLSSUL[HIMD
pevauifliemed Aarfr prevhlsefia mraruc L
2pHé gHUBSEpg ?

(1) swSeuwrflen

(2)  eredloGuiebriqwinélav

(3) Ameuimbd Crmi

(4)  yevasrflurdlen

&flfl flenan uflermriog b @

aTOsgsen. sl saumrang og ?

(1) s L6y, eusiaraund pmib wellsefler ser

(2)  weflgen, oudiaraurd wHYD EssTelen
(LPEITEITIRISHITED

(3)  eueuameuméd, weflgen HHD Sssreden epear

(4)  eueuareumed, weafligar wHpd EssTeflar @swib

Qarm&suuc L

g dsgibGsefidr (erarmsrasaten
eT@bLiaw e 2 eter DD THH(ES
ahggsetH ?

(1) swedl Lreud

(2) Gaprwreg)

(3)  @alflwe uflammon

(4) emegl

Gereupeuareippier eg ‘sar  adliiy  Gpmi
2j6bev ?

(1) Al elGamr

(2)  Cerflwrdle

(3) e Cpmi

(4) Aolimi@ Syieriigen

walseflat @rssaums urpbufiugams shwurs

lers@eug erg ?

a. fleon Curiised

gienant GuImkise

U G0 jeSeser
GopCunh s

ue wrugg ummbuflwib

® o o

(1) a,cwpgi>e

(2) b, cwppwe

(3) b,dwpmyb e

(4) a,bwhpb ¢

ured suilprs wrmib Curg @iger ea L ssg LI
Ths el L A6 sieTe) o wWireusTd) Hfsfsdng
(1) eve e E

(2) eauLiflér D

(3)  eeiller By,

(4)  epeul L fler A
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65. Match the items given in Column I with those in [65. Epsarm apper sflurer S owus CaHCsHSE
Column II and select the correct option given Gs7a8 I wppie Qsnadl II-g Qurmsd erpss :
below :

seb I saub IT
Column I Column 11 e IR -
' - = , N a8 wi @G .9sCsasari. UV-B st ofés
a. Eutrophication i. UV-B radiation b £ o e .. i
. S = fle Garan(y i 5m_s€§i§§m
b. Sanitary landfill 1ii. Deforestation sTpauBases
c. Snow blindness  iii. Nutrient Briuse
entichment c. val sm6 il s’ OQUTEHET
) WHlensenio
d. Jhum cultivation iv. Waste disposal d b cA8Gss S e b ivaehis
a b c d
@ i i vl . o
s, . i (1) & B v ifi
(2) ii i iii iv SO :
@ " : & @ a - il iv
. _ o 3 = v i ii
@ i oo ol @ i B iv il

66. Which one of the following population|66. =Essfisoda gageuUT gs  OEHESIS®ET
interactions is widely used in medical science for serfiss shaesutar Gergbsres e papeD
the production of antibiotics ? ——= ::*SIQ ?

(1) Amensalism 1! a&a =fea el afl 2 pay
(2) Commensalism 2} seiioanps 2 e
(3) Parasitism 3 e peveal 2pay
(4) Mutualism 4) Endgpey
67. Seasasapper Caupdl LrgsTiL

67. All of the following are included in ‘Ex-situ '-,'-a-;—é—‘ﬁ;'ﬂ,@ﬂ@ﬁ@ ? . -
conservation’ except e s auiid
(1) Seed banks 2 e demi@ Feurfl risT
(2) Wildlife safari parks 3 srareflue yhsT
(3) Botanical gardens 4 Gsreflh sr@aer
(4) Sacred groves 68. &= = isar auan(mb ParsbisTansuiid

68. In a growing population of a country, a j’%‘a.rau@&a '[E]slamu_‘ﬂd) bl ke Gﬂl‘

RN war @artumés Hleeule = erer pUTSET
(1) pre-reproductive individuals are less than sonal.
the reproductive individuals. 2 Getusss Heeldd e puisemer ol
(2) pre-reproductive individuals are more than oar QaQupss Heoold oeer BUTEET
the reproductive individuals. =S,
(3) reproductive and pre-reproductive 3 Eelumss flowuld oder puisEhD @per
individuals are equal in number. Salumss fHleoeuld oder puUTsEHD
(4) reproductive individuals are less than the F207S 2 CUETETIT.
post-reproductive individuals. 4 Se gelumss Heoeuld 2der pursoarn
) & Qaldumss Haeulle sdrer pUiGE
69. Which part of poppy plant is used to obtain the saoay
& ” '? —
drug “Smack” ? 69. _=0S5 Gsadlar aps uEH “ebGus” aap Gurens
(1) Leaves oEsas sutilss LuaTuREpg ?
(2) Flowers (1) Becsd
(3) Roots & f’n"h’v
(3) Gasfzar
(4) Latex @ Cox: ied
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70. Which of the following gastric cells indirectly | 70. eflsCrmCumudlengs, DD (PSS 2 Feyib
help in erythropoiesis ? gnevl_Ms Qedser org ? '
(1) Parietal cells (1) ueplied Cledser
(2) Chief cells Gl B Saiiad
(3) Goblet cells (3) Garuel Gedser
(4) dwssed Cedsdr
(4) Mucous cells
71. Match the items given in Column I with those in | 71. &Spsear_eupmer sflurar Ao ows CsrblsBss
Column II and select the correct option given dansd I vppid Gsm@d II-g Qurmsd erpgis :
Lo Qsredl 1 Asmed) 1
Column I Column II a. ceulifGearmmer 1.  gyevonins swafleme
a. Fibrinogen i. Osmotic balance b. &Germyefie ii. @rssb 2 mpsd
b.  Globulin ii.  Blood clotting ¢. ydiben il urgismiy Geudgpenp
| ¢.  Albumin iii.  Defence mechanism a b c
a b & (1) i iii i
(1) ii Be~ 3 (2) ii ii i
(2) iii il i 3) i il ii
3) i iii ii 4 i i iii
| @ i ii ii
| 72. Geraumeuaeuhmier orgy Qgmfler AsTLfumar saurs
72. Which of the following is an occupational Carerrg ?
respiratory disorder ? (1) eroebi9&m
(1) Emphysema (2)  ypdlyrélev
(2) Anthracis (3)  ur_Bedlsb
(3) Botulism b
(4) Silicosis 73. by sos sHEEGSDD ST pssu Lk
cudléd Qeraftlen
73. Calcium is important in skeletal muscle| _ el
contraction because it (1) duGuréler Gniss Geeni LHpIb éiger
aflaflenG b 4 :
(1) prevents the formation of bonds between @m_%f; B T e el
the myosin cross bridges and the actin 5054pg!
filament. (2)  @CrrGurefgier Garanha,
(2) binds to troponin to remove the masking of LapssiUL i @BEGD @oCurélassrar
active sites on actin for myosin. Gewadlper ugHsmar QeualiiLBssfng.
(3) detaches the myosin head from the actin (3)  owGunsldar goaemu o sig6r
filament. Qenysaiedmbg GNsHns.
' (4) f:tctivates the myosin ATPase by binding to (4)  eowCurflar ATPase &t Goanbg @)smer
it. Geueu®@szEDng.
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74. Nissl bodies are mainly composed of 74. Beeis s pitiysafia QuEpbLITETEnLOWITE
(1) Free ribosomes and RER sramBas ‘
= I
(2) Proteins and lipids (1) sefss erCunGembser wdmb RER
(8) Nucleic acids and SER (2) * ussisd :-3,+ SLEGser
(4) DNA and RNA (3) Syseafs sufion oppd SER
4) = &6 DD &y iT.erebN.6f.
75. Which of these statements is incorrect ? o ,
(1) Oxidative phosphorylation takes place in 5 SR =ppseie saprag ag| _ B
outer mitochondrial membrane. (1 2 h . ;_:_*EFWWE}“—'“_EGUGQ@ 288G g dl
(2) Enzymes of TCA cycle are present in - ,'I‘_ Ci:_ "f}:’?m éﬁ Beph: ) 4
mitochondrial matrix. L aesein ;"Qm LR
(3) Glycolysis operates as long as it is supplied T . .
3 A . .
with NAD that can pick up hydrogen atoms. 1 'IQE e a@isedr gied NAD ssd
: i EcEeb away daasradflen Hlaspo.
(4)  Glycolysis occurs in cytosol. (4) E-st:a”s'roﬂeﬂau e CLnsnelle Hapdng.
76. Select the incorrect match : 76. sapss Cuimpduder Geerawu CaEAsH
(1) Polytene — Oocytes of amphibians (1) uvrded - @meunpeliisafier
chromosomes ’ SCyrlwrGembadr oarensL(H&HET
(2) Lampbrush - Diplotene bivalents 2 ;“";‘m"'f“d" - guGermeer
clishinahiaea &CrmGunGembaer anL1IGaueuen(HSET
) . (3) £y Qo rQsangfs - L- augey
(3) Submetacentric — L-shaped chromososmes &CrrGurCsmbaen SCrGLrGsmid
chromosomes i (4) =aCanCsmbser - Lmed
(4) Allosomes — Sex chromosomes &CrmCuorCembaer
77. Which of the following terms describe human 7. wais coamvuemu daseh Ghisd wurma ?
dentition ? (1)  yesGrmrer’, @ Lo anuGuimmer,
(1) Pleurodont, Diphyodont, Heterodont :'%'—“‘?@Uf*?“mh 1 I
. (2) ZEaCGsmnen’, el ..euGuirmerl,
(2) Thecodont, Diphyodont, Homodont CaprGom_re.
(3) Pleurodont, Monophyodont, Homodont 3) gweCmiran, CuremeuGuim mer,
(4) Thecodont, Diphyodont, Heterodont ' —3’— I
(4) EzCGaminan’, el ..enuiGuimLmedr,
78. Which of the following events does not occur in Qe o Cym_men’
rough endoplasmic reticulum ? 8. Seams cis Hspey QemQsryiuner ssndam
(1)  Phospholipid synthesis asmaSseda (RER) fspaidlsdame ?
(2y Protein folding 1) uECusdnSE 2 meunésid
(3) Cleavage of signal peptide (2) L5 ey
(4) Protein glycosylation (3) sfes Guie Hssfiar Yeray
. : ) . (4) uys EeCanfanssd
79. Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide |79, Laus wrdd@uie Gsaer Gr sowusdd
simultaneously. Such strings of ribosomes are 2 paurss La @rGurlsmbsdr gm mRNA ey
termed s By, sfsesu Gsroi eyGurGsmbsefld
(1) Nucleosome Quuwsit
(2) Polysome (1) PyseliCurCsmbaer
ol (2) undGembser
(3 Bk rome (3) Sammevg GLmbaser
(4) Polyhedral bodies (4) LrSQaDrTd oYL isET |
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80. Ciliates differ from all other protozoans in 80. Yp UG CLrGsranssallelmhg ENIGLL a6
(1) having two types of nuclei absnyengsned Capu@aamarn ?
(2) using flagella for locomotion (1) Qranh aeswuren eLspoa AUODICESGD
(3) using pseudopodia for capturing prey 2) @ Quuiessrs Seflapsman LueTLS5!0
. ) : (3) Gevrew G ingnes GuneSlardaenar
(4) having a contractile vacuole for removing. . o
LieTU(HSSID
excess water
4) Bes feor CaeCubdp sEEEG DISTGOD
81. Identify the vertebrate group of animals QupH®&SD
characterized by crop and gizzard in its digestive _ e . _
system. 81. Qeflorer  va&mL@wsded  Safilieou whHmid
() Osteichthyes S@r@al@mUmWL o @ pedsgbidse agl ?
; . (1) aoesSel
(2) Amphibia o _gm) ;
- (2) @ meumpellser
(3) Aves 3)  gdied
(4) Reptilia (4)  estfrauen
82. Which one of these animals is not a|g82 (Gaemaeappesr Gauu @rss Crreflwupp
homeotherm ? Atie a8l ?
(1)  Psittacula (1) HAlirssenr
(2) Macropus 2)  wreCymew
(3) CaGwwey
(3) Camelus (4) ECener
(4) Chelone
83. ypaw syuuransSlsEr  WHHID Quetr  srlLITET
83. Which of the following features is used to identify yflsman ariLGTLEET (patb semfluomd ?
a male cockroach from a female cockroach ? (1) welymps Qambuser e erarsre
(1) Presence of anal cerci (2) 9-agy wlpy semsdo UG el
(2) Presence of a boat shaped sternum on the @ fremb 2_eTeTsmed
9" abdominal segment (3) wear @neseier GLsllam smewLWLTS
(3) Forewings with darker tegmina 2 GTaTSHTed
(4) Presence of caudal styles (4)  eure Hled 2 arergmed
84. Which of the following animals does not undergo |84. Sere(heuarauppier  auar o (homHpd  HEPrs
metamorphosis ? fsws daneg agl ?
(1) Starfish (1) prasdy Sen
(2) Earthworm (2) el
(3) Moth (3) <pgi L&
(4) Tunicate 4) wwealGs Hsdr
85. Which of the following organisms are known as |85. QumhisLdsafia wadw 2 HuSHwimeryrs
chief producers in the oceans ? smstLBDL 2wliflser g ?
(1) Euglenoids (1)  weetarmiBaer
(2) Dinoflagellates (2 e Geam.DerrtgaGal Hser
(3) Cyanobacteria (3)  swGarmursieMursser
i) - [ Eiiadoms (4)  Lwicbser
HLAAC/NN/Page 21 SPACE FOR ROUGH WORK English/Tamil




86. Which of the following options correctly |86. =euzwr wHmbd bl 9forelle meyulreen
represents the lung congiitions in asthma and fawewu weanCu sflurs Ehuug g ?
emphysema, respectively ? (1) =aurs urTly @eopsd; YrrarasCuirdsefie
(1) Decreased respiratory surface; spdf gHUGED

Inflammation of bronchioles @) SraresCurdedia 561, aibLimad
Somes LT o & el FeUMEF
(2) Inflammation of bronchioles; Decreased ek —— o L
respiratory surface i o
(3) Increased respiratory surface; 3) iﬁ‘_i"“i‘;""_fwi?flg’g’m e :
Inflammation of bronchioles _ —f remsbunasad spHdl ghupse
(4) Increased number of bronchioles; Increased 4) ‘Jqfé"“‘s@*"”maﬁd“ eramentidens
respiratory surface =5sfgse; sans Ly ofsfligsd
87. Eosem eadoe Fwrer AeLows Csmshs

87. Match the items given in Column I with those in QE:__ 51 ? 5 Gened T Q ‘5_ 2o §®%
Column II and select the correct option given snes L ospd Gsred ll-g Aunesd a@es :
below : Gs=zs 1 Clsmsdl 11

Column I Column II 2 msefsp arnda; i @Ls gLfwb whmib
a. Tricuspid valve i. Between left atrium @Lg Ceuamgflsdler
and left ventricle @eula
b. Bicuspid valve  ii. Between right b. Ssfsp aroq i eeg QeudmgNader
ventricle and wHnd HeTuird swef
pulmonary artery QLIS
c. Semilunar valve iii. Between right ¢ et andae) lii. aeg glflub LoHDUD
atrium and right asiabg] Baaiiiy fdkiar
ventricle Poruds
h b é a b c
() i i iii 1) = 1 1ii
(2) iii & ii (2) i 1 i
3 i ii i1l (3 i it iii
(4) i iii il 4) i il ii
88. Match the items given in Column I with those in |88. £2se csgea sflwrer e owus CsrposBss
g;:nllumn II and select the correct option given Gs=zs | wopd Qsned I-g Qurssd awss
ow :
Column I Column I Gsss | Asresdl 11
i AsEsgray i 2 -
a. Tidal volume i, 2500 - 3000 mL . L2000 —s0ikhm
b. = dpsss smus . 1100 - 1200 mL
volume C. uDsaTE gEisi iii. 500 — 550 mL
¢.  Expiratory Reserve  iii. 500 — 550 mL SarFTTey
~volume d. 345 Gardgreeey iv. 1000 - 1100 mL
d. Residual volume iv. 1000 — 1100 mL a b c d
a b c d 1D i o q
o
1 iv o i i e e
(2) i i i iv 2y @m  u i v
3) i iv ii iii (3) 1 iv i 1il
(4) iii i iv ii . . .
(4) 1l i iv b
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89. Match the items given in Column I with those in |89. Spsar_cupmer sflwrer e owus CsrrEsH&s
Column II and select the correct option given Asned I wpmb QanEs - Qurmsd awss :
belov Qsrsd 1 Qsnes 11
Col I Col I i
SN —— a. SeearGargflwm i ppl(haefld wfs
a. Glycosuria i. Accumulation of uric Siflb Coitgd
acid in joints
b. Gger il. &AmiBrssdln@er
b. Gout ii. Mass of ctystalllss'sd et ibysen
salts within the kidney .
| Lg SLDOME 2 LILI&6T
| ¢.  Renalcalculi iii. Inflammation in _ )
| glomeruli c. flé srei@amen iii. @Germoemanarulley
ghu(pn F&wohs
d. Glomerular iv. Presence of glucose in ub =P
nephrj_tis urine d. @@mrrm@mrrﬁ iv. @Qlﬁlﬂ@) @@5@5”@0
5 b 4 d @ Beol 1L 1q 60 2 @engy
(1) iv i ii iii a b c d
(2) i ii iv i (1) iv i i iii
(3) i iii i iv (2) i ii iv i
4) 1 i iii v (3) ii iii i iv
90. Match the items given in Column I with those in (4) i ii ii iv
Column IT and select the correct option given
below : 90. Spsareupper sflwuner lenLaws CsibEsHssl
Column I Column IT Agred Loppbd Ganed - durpsd awss :
(Function) (Part of Excretory Camad I Csm@dl IT e
System) (Clewiser) (51fley T
3 : ; B&5CsmEsluden i
a.  Ultrafiltration i. Henle’s loop L@H)
b.  Concentration ii. Ureter a. e allgsllg i Glemered suenaray
£ uri
auane . b. AyBfler ey i, wyGmir
c.  Transport of iii. Urinary bladder
a¥ine c. FpBr sLgsluiLhee 1. ApBir eu
d. Storage of urine iv. Malpighian d. Embi Geafliiy IV, 1Dmede ol gl e
corpuscle iy Glae
v. Proximal v ggﬁmm 2
convoluted tubule G
b C d a b c d
(1) iv i iii n v iv i iii
| o “ = 2 v v ii iii
| 3) v iv i il ) _ i P
| d ) . (3) v iv i ii
(4) iv i il i1l
(4) iv i ii iii
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91. Secondary xylem and phloem in dicot stem are Bedisfeas stars. garged @rarimd Heow
produced by @sao wHgd YGemub 2 HaréEeas)
(1) Axillary meristems (1) GCsraw g8s58s
(2) Apical meristems (2) mef ssssds
(3) Phellogen e
(4) Vascular cambium &) andgeni béssds
92. saws Cadsa srawliue
92. Pneumatophores occur in : -— u—].@ = e
; 1) mwidu shee Sissreurtiser
(1) Submerged hydrophytes D) spcn; ok sraitad
(2)  Halophytes (3} yshuesgnb srauThiser
(3) Carnivorous plants @) safzy Bsieo Sisstauphsd
(4) Free-floating hydrophytes ‘ 93. @yar it deow aaiifeu Afu  serelCar
93. Plants having little or no secondary growth are SE=S :33§ﬁ* GoamCar 2 érer sTeuytise
(1) Cycads : ; I i
(2) Grasses ':."_'{;: e
' ; (3 Cs==afl Oiifizar
(3) Conifers B R i g s
4 Beault uisn staghse
(4) Deciduous angiosperms N
94. seprw s CaizlsBasayd :
94. Select the wrong statement : (1) Cuafrr sa8i3s 0Hp Cursseie
(1) Mitochondria are the powerhouse of the cell @ G ssae fudiser Qeddler eyhpe
in all kingdoms except Monera. Scu=sTs & Giaran.
(2) Cell wall is present in members of Fungi (2} gsessd oogo JeamanGL o duebyer
and Plantae. - Ssdsart o Farg.
(3) Pseudopodia are locomotory and feeding 3 3-;-:{;*" _t*e.va-‘”_m"‘f‘ﬂ@ Q'Jmf—'é;ﬁ” s
structures in Sporozoans. S-LARuie) WHRIL 2 eRTRLLL
o S|EOLULISETTS 2_QTeTenT,
1 ;
(4)  Mushrooms belong to Basidiomycetes g RN
95. Casparian strips oecur in aslou Csipsmal.
(1) Endodermis 95. sseuLsfuer ulen s snamliL@eusy
(2) Epidermis (1) ==5CGsra
(3) Cortex (2) waCsme
(4) Pericycle 3) (o=
) Guiiessda
96. Sweet potato is a modified '4_[ _ mm = L T
(1), Rhizoims 96. sissacadets dpnded wrpmEers GELLg
(2) Stem (1) wl Sassean(®
A 9 =
(3)  Tap root :5: o
(4) Adventitious root o il
(4) Gadd Caur
97. Which of the following statements is correct ? 97. Epsar =opacia efluneang g ?
(1) Stems are usually unbranched in both (1) essav wdpib Gl e 8w @reiq @b
Cycas and Cedrus. san(fed Qungeunas denesdmriuddeme.
(2) Ovules are not enclosed by ovary wall in (2) goCeravluibselie gosdr Gos
gymnosperms. safleme @wpliuealldame.
(8) Horsetails are gymnosperms. 3) %égqarf% @uq mﬂﬁﬁ e
WMeammeal LITDS .
(4) Selaginella is heterosporous, while Salvinia e ? “ i _
. 4) Crargi@adar Gmise aumsaub
is homosporous (e 672 H
: sradaiur gnife ewamswyons 2 drarar.
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98.

100.

101.

102.

103.

What type of ecological pyramid would be 98.

obtained with the following data ?
Secondary consumer: 120 g
Primary consumer : 60 g
Primary producer: 10 g-

(1) Upright pyramid of biomass

(2) Inverted pyramid of biomass

(8) Upright pyramid of numbers

(4) Pyramid of energy

World Ozone Day is celebrated on

1) 22°¢ April

2 5% June

(38) 16%® September

(4)  21% April

In stratosphere, which of the following elements

acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Oxygen

(2) Carbon

(3) Fe

4) Cl

Natality refers to

(1) ‘Number of individuals entering a habitat
(2) Death rate :

(3) Number of individuals leaving the habitat
(4) Birth rate

Niche is
(1) the functional role played by the organism
where it lives

(2) all the biological factors in the organism’s
environment

(3) the range of temperature that the organism
needs to live

(4) the physical space where an organism lives

Which of the following is a secondary pollutant ?
(1) Oy

(2) CO

(3) 80,

(4) COy

100.

101.

102.

103.

Epsan grejseafled (g creueiemswiTen @phlanas
saibL Gupliu@ib ?

@reamLmb flene msrGeur : 120 g

wae Hlevew masrGeurt : 60 g

wpad fleve o pugdwmrert : 10 g

(1) eudru@ummer Gpomer sby
(2)  euwlir@urmer D Falbl
(3) Cmyren cramenfléanss saibyy

(4) oHpéd smibly
2 @& @Csrer Hard Asmamm_LuBHeg

(1) 22 gure

(2) 5 geir

(3) 16 Gedibuir

(4) 21 gurd

Epser safltigafie el G GLmeviwife

@Garer feglibler elewanusdlung GEudul
apssmn sallmear CeueaflliLiL sTremoreug g ?

(1) <y selfiger
(2)  asmruen
(3) Fe

(4) Cl

BT erenLig) eTensd GMlaED
1) e ardlsgdeo uyswb sl ouwlisafear

eTaTenfl&enD
(2) @opuy &b
3) g wnfises L@ SuEd sef

o 9 frsaflen eremrantldGens
4)  Apuy g

SLETLILITRI(E, eTELIG

(1) 2uiflend QUIT(LpLD
Claweur B wkiE

(2) 2lffengdlenr HHm @Gpdler 2 drar maTSFH
2 Wlliflwe whmb QubiGud srrenfisdr

3 2lflend  eumps Coencuwmer slubleul U
cfigs

(4) offlend greér eumepd 2 wflwed HHID
2 9flwe Hlaesealsar oifems uLweTLRHSFHD

grsde

DI BET

aflgid
Epsar_aupyer @rarLmb Blene wrs erg ?
1) Og
(2) CO
3) 80,
(4) CO,
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104. Winged pollen grains are present in 104. SpseLu varbssEsasaT sreRTliLI(Heug)
(1) Pinus (1) eueaed
(2) Mustard 2) =635
(3) Mango By  ins
(4) Cycas . (4) RFZ
105. After karyogamy followed by meiosis, Spores are | 105 G sisdr s&rACuTarS Asriits @REsHAN
produced exogenously in Gauefiiumoas Csnenmiaug adlad
(1)  Saccharomyces (1) ==EsCarapndey
(2) Neurospora (2) S CrmavCumyr
(3) Agaricus (3) sssfiseh
(4) Alternaria (4) e iCarfiur
106. Which one is wrongly matched ? ide . S ) 4
(1) Unicellular organism - Chlorella - o gm‘m‘fu SUTESBLILIL BraTg) !
(2) Uniflagellate gametes — Polysiphonia 1) o5 G2 2 \Gf - GGarnGlyebevr
(3) Gemma cups - Marchantia (2) gpons 5—‘?’3“9@39 - undllesseGuireflui
(4) Biflagellate zoospores — Brown algae B o
) ) ; . . (3} Ggowr Carleuser - wrisrarflwr
107. Match the items given in Column I with those in B B it i e
Column II and select the correct option given 5 zv ] m; °P ~ HipEl e ey
@UleLumir
below : =
Column I Calinan if 107. Ei=am apper sflwrer e mws Carbes®Hs
Gz=ad HmiLi I- ; :
a. Herbarium i. Itisaplace havinga ":’ Toppd Gpned - Qursd TS
collection of preserved Csred) I Clgmed 11
plants and animals. a. i L ustUBSSULLL STeuy
b. Key il. A list that enumerates sTauTsEsmE iy 3m?£ fm@?’ff CEUCNINES
& .
methodically all the N .
species found in an area B. SoaCare = @ﬂl_’i’gw EFTML?H@lb .

P e TR Slanansgl Sberrisaflen
with brief descrip S(p&sorear edleufiiyer
aiding identification. Snig W auflenssdlyorar

c. Museum  iii. Isa place where dried and seiTLPlssE 2 L.
pressed plant specimens ¢ =@Rst Ausbiil. o oiss SPssCiLIL L
mounted on sheets are smeuy wrdlfiser srafled
kept. SULLIUL () eneudsliL(pib

d. Catalogue iv. A booklet containing a list ) Q.
of characters and their d = aoey 1v. LiebGaupy l_mi*,&rrfshasemm
alternates which are i:?_ﬂ ;}JG:_‘G:’ fm:;auﬂ) far

. S ] s LSHenaTiib
helpful in identification of D EepaTiLD
a b c d Has&Lh.
L i v i ii = b e =
@ i iv i i (1) in v 1 11
2) i 2,
@ # i W i I
E . . (3) n v iii i
i e o O N iv
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108.

109.

110.

111.

112.

113.

114.

Which one of the following plants shows a very
close relationship with a species of moth, where
none of the two can complete its life cycle without
the other ?

(1) Viola

(2) Hydrilla
(3) Banana
(4)

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

Yucca

(1) -160°C

(2) -120°C

(3) -—196°C

(4) -80°C

In which of the following forms is iron absorbed
by plants ?

(1) Both ferric and ferrous

(2) Ferric

(3) Free element

(4) Ferrous

Which of the following elements is responsible for

maintaining turgor in cells ?

(1) Calcium

(2) Magnesium

(3) Potassium

(4) Sodium

Double fertilization is

(1) Syngamy and triple fusion

(2) Fusion of two male gametes of a pollen tube
with two different eggs

(3) Fusion of two male gametes with one egg

(4) Fusion of one male gamete with two polar
nuclei

What is the role of NAD* in cellular

respiration ?
(1) It is the final electron acceptor for anaerobic
respiration.

(2)
(3)
(4)
Oxygen is not produced during photosynthesis by
(1) Chara

It functions as an enzyme.
It is a nucleotide source for ATP synthesis.
It functions as an electron carrier.

108. SpsanL.  ehs STEUTRGERET @M,  DibSIL

109.

110.

111.

112,

113.

114.

ysflller gm Apdersgier Apmrdug Cgmfiy
Qanaimrgmuugsenmd, geanlearl wHApream searg
ampsas sphfleowu Heope| Ceaiw Gueorg ?

(1) eeaCumear

(2) eeplféer

(8) eumenyp

(4) wasr

Slrau eplLrmelld  LETHSSHSTEMET L

sanhser Collss oaubs Quaib sisHre
apLrmafld Ceuliu Hlene

(1) -160°C

(2) -120°C

(3) -196°C

(4) -80°C

Epaan_aupder eps  Heowselld @by

sreurhsearmed SrdssiuBsng ?

(1) Quiflé wHmd Quirye @rer(Hibd

(2)  Qurfls

(3) & @pr saflob

(4) Qurmyev

Spsar_eipmer assafiod Cedsefe eaflenpiiy
ugmofider QuryuiCubhdpg ?

(1) srebflwb

(2) waeafdwub

(3) Gumrimr&wib
(4) Cemguwbd

GQrieLs smepse e
(1) ecamewwure smaypsd (faCsill) whmbd
paflenanrey

(2) wsrpss Gt @@ ear G Cadser
G Geup iTL_risEHL 6T @lepanTeug)

(3) @ & @ers Gedser @f JRTLSHIL 6
Beremmaug

4) em e @ dew, Q6 sO

2 | &(H&65 @5L 6 @)enemTelg)

Qs seundlgseles NAD™ e L@ erear ?

(1) =g smpdloer sarssdd  soBlow
erQev&mer erHLal.

(2) =g en Asrdwurs Geudu@pg!.

(3) =g ATP gurflulée gm fluseiCuraL (@
pLpeVLD.

(4) =g aQadé grer sLgduns Qawdu@dng.

BQeupdler gaflsCarsmsller CGurgy ypsallger
GQeuafiuiltiu@eudlsbemsv

. (1) smym
(2)  Green sulphur bacteria (2)  usew gourr Lmseflurssedr
(3) Cyeas (3) s
(4) Nostoc (4)  prevLms
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115.

116.

117.

118.

119.

The Golgi complex participates in

(1) Activation of amino acid

(2) Fatty acid breakdown

(3) Respiration in bacteria

(4) Formation of secretory vesicles
Stomatal movement is not affected by

(1) COq concentration
(2) Temperature

(3) Og concentration
(4) Light

Stomata in grass leaf are
(1) Barrel shaped

(2) Dumb-bell shaped
(3) Rectangular

(4) Kidney shaped

Which of the following is true for nucleolus ?

(1) It is a site for active ribosomal RNA
synthesis.

(2) Larger nucleoli are present in dividing cells.

(3) It takes part in spindle formation.

(4) Itis a membrane-bound structure.

Which of the following is not a product of light
reaction of photosynthesis ?

115.

116.

117.

118.

Ceraas 2 noysar @ande ukiGsplermer

(1) =289CaT =ufe Qsursshd

(2} Qargiy =dfa Aegsze

(3) uwrE=fursseie saunflssed

(4) =uu euse Caramse

Eweszes Guast @sama UTFlLL audsan

(1) CO,Gsdey

(2) Gawu Sea

(3) O,Gsdey

4 g

ufss"a Secisi@asd

(1) Sound augainerg)

(2) =2 3ses aganag

(3) =mroraEy

(4) Fpfs= asanag

Essar apger 2 " s(hHLoenfl GDE5 @

##Fe =z ?

(1}  e@7CusCsmb RNA surflufen serb.

(2} usiy  pe Gugn Gsdsefle Gufl
s smoaisd srariUbdeammer.

3 alasd Qay Cararpede umig
afzfanar.

(4) =3 g0 sda GPHS SiLUL.

(1) Oxygen 119. Zisar appea galéCsismauian gefl aflenend
(2) ATP SeatunEa Hensg agl ?
(3) NADPH (1) Oxygen
(4 NADH (2) ATP
120. The stage during which separation of the paired ‘3__’ ‘;iDPH
homologous chromosomes begins is (4) NADH
(1) Zygotene 120. .’3&-..‘__ _;*33 @55 GCGrGsnbser (G
rbSssn feow
@ Pe'lchjvtenle (1) &=Czmean
(3) Diakinesis S i
i i 2,‘ LAR g._xaﬂ'
(4) Diplotene ) e dmmasnRico
121. The two functional groups characteristic of (4) wcCarmedn
sugars are . ) . . .
121. sidaassdier 8@ Fni @
(1) carbonyl and hydroxyl stisysdian Sl Spoirer desesEaTsgsn
(1) srfused wHHL eapl TrEdd
(2) hydroxyl and methyl = MR st
(2) o rafa vhpb Cwssd
(3) carbonyl and phosphate : s . :
(3) sriueen® wHmIb UG
(4) carbonyl and methyl . K ) 2 it
. e (4) smiueesd wHmd Qs
122. Which among the following is not a prokaryote ? ot o =W ) .
_ . 122. Epsam apper yCrrarfiGun’ gevenggl gl 7
(1) Oscillatoria \ e
(1) c&,ﬁﬂ.‘wua_mﬁu_n‘r _ d
(2) Saccharomyces (2) swasGrrepwdan
(3) Nostoc (3) prevré
(4) Mpycobacterium (4) ewsCasrunsdefub
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123. Offsets are produced by 123. ‘e..uQs Haer Qlsamd Caranmdns
(1) Parthenogenesis (1) smeypr GergCsmbLd
(2) ' Meiotic divisions (2) e LigLiser
(3) Parthenocarpy (3)  smeynrs seflunsed
(4) Mitotic divisions (4) @ LEGLLSE
124. Select the correct statement : 124. sflwren speop CoipElsBssab :
(1) Transduction was discovered by S. Altman. (1) @mﬂf‘ﬂ_@”L wrppsens sem@ iy sseut
(2) Franklin Stahl coined the term “linkage”. S. e Guoar. o
(3) Spliceosomes take part in translation. 2 deeniy” mf“g Gsmame LwarLGESua
(4) Punnett square was developed by a British wslipmitigafler suGLape.
Scleniait (3)  evlieedCurCsmbser L UGUWIGD
. r ) b FRHLUGSeTDeT.
125. Which pf the followmg‘ has proved helpful in (4)  yeren’ sginbd @ 9N gew siheaflwie
preserving pollen as fossils ? SDIEGHTT 2 (HeuTdaiiLL L g.
{;} }S’pﬁr::l;l):ilemn 125. EpsearcupmeT LETHSSESEME@aT
(2) SHeIIty Ggréugwwrst Cuanafle) 2 gallyflyb adrums
(3) Oil content Qs 9
: e P98 gl ?
4) Cellulosic intine 1) evCuICITauUrdaien
126. Which of the following pairs is wrongly (2) CGuneerdl
matched ? (3)  eramrGenni Glareimg.mriLg
(1) T.H. Morgan Linkage (4) GeagGamenrd e sise ap
(2) Starch synthesis in pea Multiple alleles | 126, Epsa. @oeamsaflds sapres QUIEBSSILLLS)
(3) XO type sex Grasshopper gl ?
determination (1) T.H. wrirsmer T Qenemtiiyy
(4) ABO blood grouping Co-dominance (2) U Lmrenfludle D L&l () 2deSedser
127. Select the correct match :  srE 2 puss
) (3) XO auens Limed Flirawrwud : Qeul Hadef
(1) Francois Jacob and — Lac operon (4) ABO @rés aievs . Qe @RGSO
dnequed Monod 127. sAwrsy Quirmpduerarans CsibOsdasa
(2) Alec Jeffreys — Streptococcus (1) ugrensmiev Cgel - @ré guiymer
pneumoniae whmn Cgé wrerm
(3) Matthew Meselson  — Pisum sativum (2) s Gggealifled - GULCUIGL nsnEse
and F. Stahl HeiommCi
(3) gy, Bledsear YD - @LFD F e eud
(4) Alfred Hersheyand - TMV F. cvGLamé
Martha Chase 4)  padn. Qapiad - TMV
128. Which of the following flowers only once in its wHmid wirigsm Cesv
life-time ? 128. Zpsameupger saigl awrpsraie @Cr @@ e
(1) Papaya oL [Hib weTeugl eg ?
(2) Bamboo species (1) uouref
(3) Mango (2)  pprudle Anderd
(4). Jackfruit (3) wom
129. Th imental proof f i ti ok
. The experimental proof for semiconservative S A _ o
replication of DNA was first shown in a A39- Jﬁfé’] HTGATRA D',NA pranGEpila Splia
: sranml (pseiier SifuiiucL g e ?
(1) Virus 1 .
(1)  eeuyen
(2) Fungus @) yeee
(3) Plant (3)  sreud
(4)  Bacterium 4)  unsefuib
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130. Which of the following is commonly used as a|130. Spsar_apmer weflls SwCurems. Csadla g
vector for introducing a DNA fragment in human DNA gian_sens o Cegugs Qurmgiars wwerL@Ld
lymphocytes ? s 8 ag ?

55 T8
(1) pBR 322 (1) pBR 322
(2) Retrovirus (2) GriGrreneunet
(3) A phage @) 2Gug
(4) Tiplasmid (4) TiQemev @

131. Select the correct match : 131. sfwsss Qurmssiu’ L wss CaiE0sG8sah :
(1) G.Mendel — Transformation (1) G Guam - Busesiod
(2) Ribozyme — Nucleic acid (2) &Cimaesb - Seass sfan
(3) T.H. Morgan — Transduction (3) TH wrismen Seeates. napmib
(4) Fyx Recessive parent — Dihybrid cross 4) Fyx efiguery - Seoar. saiy

132. Use of bioresources by multinational companies c.__: ;'F— 3
and organisations without authorisation from the 132. L= ppoansh QEEE: S s 2 uilfr
concerned country and its people is called SEEGCEmm . Spd OSEEERE T oL
(1) Bioexploitation e =‘-“"‘="_J-=‘5*J? § unenGeses Saan
(2) Bio-infringement s s “Fy _’f"

(3) Biodegradation = il xgohe_&
(4) Biopiracy = '—ﬁ"f_“' =3z -2
8 2Sfsas Sasisa

133. A ‘new’ variety of rice was patented by a foreign ) s S
company, though such wvarieties have been o . - .
present in India for a long time. This is related to 1 == “'?‘ . !:‘_ =5 fa= = FEsSordilo
(1) Basmati . o sy, P2 sm

EIL SIS el s e &S
(2} Co-667 ' i1 -z —'-,é
(3) Lerma Rojo 2) CoB67
(4) Sharbati Sonora 3 GCwsws Comgr

134. In India, the organisation responsible for 4 =58 CarCamyn
assessing the safety of introducing genetically |184. Sss. = a. LOFLIDTHDE =
modified organisms for public use is s SSadssiians ungsmieu =SSR G=ig
(1) Genetic Engineering Appraisal Committee 9’“‘%_&'5??7 '—f”m””"—"f_ﬂ&t. =Spes Sy

(G’EA‘C) TR = I?LSS@L._. ‘TBQJG’UGFLB

1) =00 Qurdllblue (& sz IEEAC)
(2) Indian Council of Medical Research (ICMR) - el o _
| S8Surdla LMjge SITEESE Sgod

(3) Research Committee on Genetic MR

Manipulation (RCGM) 3 _'-‘___. -9 le_lrr(_rde . L s
(4) Council for Scientific and Industrial - 82 g (RCGM)

Research (CSIR) ) =dadued wppn Qs Soeassran

Eegeas (CSIR)

135. The correct order of steps in Polymerase Chain
Reaction (PCR) is 135. =t sndld  dAdmen@a PO g
(1) Denaturation, Annealing, Extension Paass e sfuner auflens

] __,‘_-_‘_ Y : 3 4 - =

(2) Extension, Denaturation, Annealing @ 8 ; z@g,g,a: L.lg)eurrrg)ma:: ’5‘—&‘“‘

) ; ] 2 E fumse, Quayfmssd, usarime

(3) Denaturation, Extension, Annealing 3] Euacfassw, BLAynsd, usearnpe

(4) Annealing, Extension, Denaturation 4) Lseond, fLAupse, QudLSasss
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136. Identify the major products P, Q and R in the
following sequence of reactions :

Anhydrous
AICI,
@ + CHgCH,CH,Cl ———3
(i) 0,
T Q#R
(ii) H3O%/A

R

e
f-n]

Q

H

CH(CH,),
(1) U :  CHy-CO-CH,

@) @ @ CH;4CH, - OH
CH(CHy), OH
(3) @’ CH3CH(OH)CH,
CH,CH,CH; CHO  COOH

Q0.0

137. Which of the following compounds can form a
zwitterion ?

(1) Glycine
(2)  Aniline
(3)  Benzoic acid

(4)  Acetanilide

136. Spsem

137.

ellenaraaflar  cuflensufen &Sl
sflevar@unnperser P, Q wpmid R g sawHlueyd :
Bes
AICI,
@ + CH,CH,CH,0l — =8
(1) Oy Q4R
(i) Hy07/a & 7
P Q R
OH
CH(CH,),
(1) @ CH;y - CO - CHj
CH,CH,CH; CHO
(2) @ @ CH4CH, - OH
CH(CH,), OH
3) @ CH;CH(OH)CH,
CHy,CH,CH; CHO  COOH

w ()

Spsar_ Catorisaia gl evselll L =ywefleny

2 (Heun&@Gid ?
(1) semendler
(2)  safedlan

(3) QuerGsmu9s <iblew

(4) <8 _aflea®
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188. The geometry and magnetic behaviour of the

139.

140.

141.

142, Which one of the following

complex [Ni(CO),] are

(1) tetrahedral geometry and paramagnetic
(2) square planar geometry and diamagnetic
(3) square planar geometry and paramagnetic
(4) tetrahedral geometry and diamagnetic
Iron carbonyl, Fe(CO)jy is

(1) dinuclear

(2) tetranuclear

(3) trinuclear

(4) mononuclear

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column II
a G i, /8 BM.
b. Crt ii. /35 BM.
6 Fet iii. 3 B.M.
d. NiZt iv. 24 BM.
V. \[1_5 B.M.
a b c d
(1) 1 v i il
(2 iv v ii i
8 iv i i iii
@ i i il iv

The type of isomerism shown by the complex
[CoCly(en),] is

(1) Linkage isomerism

(2) Geometrical isomerism

(3) TIonization isomerism

(4) Coordination isomerism

ions exhibits
d-d transition and paramagnetism as well ?

1 MnOj

138.

139.

140.

141.

142.

[Ni(CO)y siememrellen Lp@eet siebliy wHMID

STHS FemenLDwiTens)

(1) mrengpd yn@eel =enwiy wHyb Cugm
BNh5SSENeND

(2) sgyser ynGesel s@sly wHDID LWIT
SThSSSenann

(3) sgiser upGast ey LHPL Gugm
ENheS5eEenD

(4) pranepd Ol Se@wiy wHEL Lwr

EMBSES& W
@mby srumeard, Fe(CO); earg
1 96 =@
(2) prang &0
(3) sam

(4) gaaDns &

Gsnzd 1 @ Qer@ssiul 2 Cars Swalsamer
Gznss 11 o Gsr@ssuulL Seusualise dr

Fpo s spsdmuusdoaiier  Qummss  wHmd

=sa shurer il e Gesrhlshssalb :

Qs 1 Qs I
a. Co i V8 BM.
b. Cr ii. /35 BM.
c. Feo iii. 3 BM.
d Ni iv. V24 BM.
V. J15 BM.
a b c d
(1) ii v i ii
2) iv v ii i
(3) iv i ii iii
4 i ii iii iv
[CoCly(en),] siemamay sTLEO wrhblussler
GJG‘JEHJHGGT@

(1) Qevemriiy LDrrﬁ)gS]@Lb

(2) egeu eus wrHOLID

(3) =wefl wrhdlwid

4) oeere wrHHlub

EpsarL swallsale ag gap d-d widpsesub

wHHID UTTIETHSSSETEIOL|D 2 L LSTESD ?

(1) MnO3

2 Cro} :
i 2 Cro2
(3) MnO, .
(3) MnOj
9.
@ Cr0q 4 Cr02
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143. Which of the following molecules represents the | 143, GLimhs aanrs  senssd Spsam_ s
order of hybridisation sz, sz, sp, sp from left to eLpendsn Hed spz, sp?, sp, 8p @ensseliy eufleseius
right atoms ? ST_(Hd ?

(1) CHy-CH = CH - CHjy (1) CHg-CH =CH - CH,
(2) HC=C-C=CH 2 HC=C-C=CH
(8) CH, =CH-CH =CH, (3) CHy=CH-CH =CH,
(4) CHy=CH-C=CH -

(4) CHy=CH-C=CH

144. Which of the following carbocations is expected to 144. Spsani sriuc Got welie ag Bs 85
be most stable ? e S 9

Ble@ULSSETD 2 L ILSTS erdlTumissantd 7
NO,
NO, H
H (1) Y>®
(1) Y
NO,
NO,
(2) 5
(2) &
Y H
X 1H
NO,
NO,
(3)
' H
3) H7© yaN
Y @&
NO,
NO,
4)
(4)
¥ H
¥ H
_ 145. -1 UASH Aevarenay Qusss Spsameuppier

145. Which of the following is correct with respect to sgl sflwreng) : (R = yydamsd)

=] f i TR =

effect of the substituents ? (R alkyl) (1) —NR,>-OR>-F
(1) -NRy>—OR>-F

2) - - -F
(2) —NHy<-OR<-F e
(3 -NHy>-OR>-F (3 -NH;>-OR>-F
(4) -NRy;<-OR<-F (4) —-NRy;<-OR<-F
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146. The solubility of BaSO, in water is|146. 298 K& fficv BaSOy e sendpen 2:42x 103gL L.
2:42 x 107> gL‘1 at 298 K. The value of its Sipen sojdnear dumss (K:_pl wdliureng) :
solubility product (KSEJ} will be i (Qar@ésuu L BaSOy & Cureant Bleop =
(Given molar mass of BaSO, = 233 g mol )

i mad 233 g mol™?)
& LORxIl et b 1) 108x10° mol® L2
(2) 1:08 x 107" mol® L™ @ 108x 10 moP L2
@) 108x10 ¥ mol®> L (3) 108x 107 mol? L2
4) 108 x 102 mol” L 4 108x10 Zmel" L™

147. Given van der Waals constant for NHj, Hy, Oy 147. NH3, Hy. O, =5 ;1:-~ CO, 35 Qar@ssuuiL
and CO, are respectively 417, 0-244, 136 and iR SR g gy 4-17, 0-244,
3-59, which one of the following gases is most 1:36 woge 358, Sgsar. aruisaia ag ganyl

o . s aebsss SgancTaEd -
easily liquefied ? - =
1) COy (1 €Oy
(2) NHg (2) NH,4
4) Hy 4 H,

148. Following solutions were prepared by mixing|148. Gaalfazn GCefessa NaOH wooo HCl g
different volumes of NaOH and HCI of different QadCany ssseda sasz sorfssuulL
concentrations : Epzar_ sefsassa -

a  60mL M HCl+40mL M NaoH a 60mL M ucso=L X N.0H
10 10 10 i0
- M el %
b B5mE AL HO+45mL 2 NaOH b. 55mL —- HCl+4&5ml = NaOH
10 10 1 10
. M E M
c. 75mL%H01+25mL%‘-Na0H ¢. Tml —HO+SaL = NeOH
. M
j .= omL — N
d. 100mL 3T HCl+ 100 mL 2 NaoH ® B0l R,
pH of which one of them will be equal to 1 ? s ganflar pH garg 1 8¢ seos=s 22607
(1) ¢ (1) e
2 b (2 b
3) d 3 d
@ = @ a
149. On which of the following properties does the |149. Epsar ahs LaTUsella e@ =uwaide Jfigd
coagulating power of an ion depend ? Apar smipH BEGD ?
(1) The sign of charge on the ion alone 1) swelbe Hasan G ol G
(2) :}:};emagmtude of the charge on the ion @) oG et arsid o Gib
(3) Both magnitude and sign of the charge on 3) swelfer Haseo e ©dpd G
the ion @yamenwGio
(4) Size of the ion alone (4) =weflller sierailed WL HD
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150.

151.

152.

153.

154.

155.

S —— e ————
Which of the following statements is not true for |150. Spsen..  sppseiie  aprogesE@ss g

halogens ?

(1) Chlorine has the highest electron-gain
enthalpy.

(2) All form monobasic oxyacids.

(3)  All but. fluorine show positive oxidation
states.

(4)  All are oxidizing agents.

Considering Ellingham diagram, which of the

following metals can be used to reduce alumina ?

(1) Cu

(2) Fe

(3) Mg

(4) Zn

The correct order of atomic radii in group 13
elements is

(1) B<Ga<Al<In<TIl
(2) B<Al<In<Ga<Tl
(3) B<Ga<Al<Tl<In
4) B<Al<Ga<In<Tl

In the structure of CIF3, the number of lone pairs
of electrons on central atom ‘Cl’ is

(1) three
(2) one
(3) four
(4) two

The correct order of N-compounds in its
decreasing order of oxidation states is

(1) NH,CI, Ny, NO, HNO,
@ HNO,, NO, Ny, NH,CI
(3) HNOg, NH,CI, NO, N,
(4) HNOg, NO, NH,CL, N,

Which one of the following elements is unable to
form MF63 “ion ?

151.

152.

153.

154.

155.

2 aanioufseney ?
(1) @CGernflen iflswnear eeslgrer - gHOE
arangnad e oL wg.

(2) erend @hepsTy s blasHs SHLD.

(3) uyesflewar selisg — swasgn G
&8 pCarhn Hlenwerws Sm_(Hib.

(4) eoend RFHgGarhbiuims@ib.

godtapTd ULSds sHsHe  Demarime,

Epsar_ o Carshsdid ag sglflamaa @hss
vweruélmg ?

(1) Cu
(2) PFe
(3) Mg
(4) Zn

QAsned 13 saflvmsealen sflurer ign <y yhsseficr
auflengwimeng

(1) B<Ga<Al<In<Tl

(2) B<Al<In<Ga<Tl

(3) B<Ga<Al<Tl<In

(4) B<Al<Ga<In<Tl

CIF; wiewinda, oww gy Cl eder salss
aQeslgrer @i sellar erameanflsmswneans)

(1)  eperm

(2) qerm

(3) prenes

4) @ren®

N Geairomsat e sflwimer @G fans

2sfgCanppn Feesafld auflamsurarg
(1) NH,CI, Ny, NO, HNO4

(2) HNOg, NO, Ny, NH,CI
(3) HNOg, NH,CI, NO, N,
(4) HNO,, NO, NH,CI, N,

Epsan_ gefiogde agl e MF63_ <jwieaflenw
2 (meurs@ @uierg ?

(1) In 1) In
(2) Ga ) Ga
(3) B 3) B
(4) Al 4) Al
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156. The compound A on treatment with Na gives B, |156. Gsfwd A wrenzy Na 2. ar Gsigy B g smdpg
and with PCl; gives C. B and C react together to wopged PCl; wan C g smélpg. B wpgd C
give diethyl ether. A, B and C are in the order eants deaufitsy aLasda F5ser sHADE.
(1) C,H.OH, C,H,0Na, C,H,Cl A, B upgd C da aflesuneng

(1) CsH-OH, C;H:ONa, C,H:C
(2) C,H.OH, C,Hj, C,H,Cl 2HsOH, C5H,0Na, C,H;Cl
(2) G H-OH. C;H., C,H.Ci
- (3) C,H5Cl, CyHg, (}_2H5OH 2H; 2He, CoHs
(3) GCHLCL C,H;, CoH-0H
(4) C,H5OH, CoH;Cl, C,H;ONa 2HsOL Cofls, GoHig
(4) CSHOH, C,H;Cl C;H-ON=
157. Hydrocarbon (A) reacts with bromine by 157 S i () s L o
« G STEREEI G A} LASFT 2=
substitution to form an alkyl bromide which by = i ,‘.:-g':._.z > mrf‘m" )
Wurtz reaction is converted to gaseous 1*—'5@ %ﬂe—i-ﬂ "'u L:'_’:a”mf—’@m
hydrocarbon containing less than four carbon SRS TR CaEm s preEacet
atoms. (A) is SEpara STTuE SaEpssae estesl Gy
oap Crartuass ool s Spe (A aney
(1) CHy 8l
(1 CH,
(2) CH=CH
2 CCE=CH
(3) CH;-CHy
= 8,-08,
(4) CHy=CH,y
o E,=05

158. The compound C;Hg undergoes the following|ysg Serus C-H, Spcer. Seeww 58

reactions : 3CL/A  Br./Fe ZulB0Y
8Cl,/A Bry/Fe Za/HCI C-H; > A > B >
7Hg > A > B >C J 1

Sesc nss C uraeg
The product ‘C’ is

11} o CoCionCL ngyelics
(1) p-bromotoluene

2 m-CavCurlngyelien
(2) m-bromotoluene

&) 3 GCCin-24,6- L apsCarbare nastia
(8) 3-bromo-2,4,6-trichlorotoluene eeion FNE== p—

3 EernCiond :
(4) o-bromotoluene R & GuConG rgiclan
159. Beda= winnd wvafly Crue Seeca b

159. Which oxide of nitrogen is mef a common asssa aidd odT  UESsLUBS @ Tmen
pollutant introduced into the atmosphere both SEmeGamear o5 g Quipeses S G5
due to natural and human activity ? B sz ” '
(1) NO (1} NO
@ N,Os o o ‘
(4) NO, 4 N0,
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0.

3.

The correct difference between first- and
second-order reactions is that

(1) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

(2) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(3) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(4) the half-life of a first-order reaction does not
~ depend on [A],; the halflife of a

second-order reaction does depend on [A],

Among CaH,, BeH,, BaH,, the order of ionic
character is

(1) BaH, <BeH, < CaH,

(2) BeH, < CaH, < BaH,

(3) BeH, < BaH, < CaH,

(4) CaH, < BeH, < BaH,

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

_ 182V _ 15V
Bro; 2% Bro; 12Vs HBro

Br~

%
10652V °2 “The5v

Then the species undergoing disproportionation
is

(1) HBrO
(2) BrO;
(3) Bry

(4) BrO,

In which case is the number of molecules of water

maximum ?

(1) 1072 mol of water

(2) 18 mL of water

(3) 0-00224 L of water vapours at 1 atm and
273 K

(4) 0-18 g of water

160.

161.

162.

wse wHmib @rawrmb euens el enansafier &iflwimes

Caugiuin(y eremuigy

(1) s eaws oaulear BaaGasibd
alenaru® Qumpefler Gedaneu amibdlméEbd;
@remLmb-auens  olleanier  allearGausid
eflenarui(p Qummefler Qadleney enibdl(mEsTg)

(2) @wsed eawms dmaniar AaaGeausid
aflenaru R Lmmetiesr Qefeneu
snipSlpé&ang; @rawLmd eues efilenamuleir
dilenanGeusd eflewaruBGummefler Geeneu

Rl TG EIC
3) wse ums cflenermeniLl
eflemanussiuBssond; @rearLmb  euams

dlmarew ellmanyésliLBés @ueaig

4) s awws olameanier i@y erpey [Alg
NS (réang; @repLmb euens eSenemulen
sy arpey [Aly eripdmesid

CaH,, BeH,,

uamiSlen euilenawirang)
(1) BaH, <BeH, < CaH,

(2) BeH,; < CaH, < BaH,
(3) B9H2 < BaH2 < 03112
(4) CaH, < BeH, < BaH,

BaH,; dweapdayer siwefl

srliguimiug  Cumed
YCrmislesflesr
DIDDSMS

8Cyp o drar
QeusuCaeumy emf Ay w
258mCarpn  Flevewuld  ghu@bd
smsHe Qamairmed :

_ 182 _ 15V
mo, 2% mo; 22V pmg

UL g&leé

Br~

10652V o2 “Thosv

eldlsé Aengeys@ 2 drerm@bd o pliLTaig
BG0-
(1) HBrO
(2) BrOj
(3) Bry
(4) BrOj
163. Epsam_eupdle ade B £LPEV & T 1) S 6Tl 6ot

aananfléens sfasul somi G méeh ?

(1) 1073 Guore Bhle

(2) 18 mL ffla

(3) 1atm wpyid 273 K e 0:00224 L fir
<y 6e8ludled

(4) 018 g Sfled
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164. Carboxylic acids have higher boiling points than |164. UL LiL &g w POREIn ) flepmujent_ui
aldehydes, ketones and even alcohols of By enan () &6, £ CLnenser HDID
comparable molecular mass. It is due to their S dsQDTOSMET ST _ig @ith L
(1) formation of intermolecular H-bonding sfleomsasr =fs  Cerdfleat  yerellsamer
(2) formation of intramolecular H-bonding s eoLg e aafie Geaiphle
(3) more extensive association of carboxylic (1) epassmpge H Gaaruy o pange

acid via van der Waals force of attraction 2) eposmPe Cu H Geemiy o gaursd
(4) formation of carboxylate ion ) et ewdeh: wainsl s e
stundeurdls  sflesddar ofls =8

165. Compound A, CgH;qO, is found to react with Bewisisad
NaOI (produced by reacting Y with NaOH) and (4) srtursaliGal swal o HaTasTD
Jﬂel?;s a yellow precipitate with characteristic 165. ‘Csinos A, CgH,,0, NsOl wjér eflevenyReugie
smell.

) S§Camb & i
et S\ Bw resmdieruly =0 s (Y-wrerg), NaOH 2. 6 sflevarfibg
s sugSurdps) LHDID @M WEREET eiPLIgEe
CH, &SCAL 5558 UpguLer s@Eng.
(1) CH; @ OH and I, Bndgs Y ainerg (b G
CHj
(1) CHj —@— OH wpmib Iy
@ HyC—~ ) CH,-OHandT,
@ HC—{ ) CH, OHupgol,
3) @— CH-CHgand I,
[
OH (3) /_\ CH-CHg dab Iy
@ { ) CH,~CH,-OHand1, o
(4) ( CH; - CH, - OH wpmd I
166. In the reaction 166. RaBemarSa
OH O™Na* ?H O™ Na*
@ + CHCly + NaOH ——> @’CHO @ +CHCl; + NaOH ——> @‘CHO
the electrophile involved is STAGSCoTE alk ssyatinms nGLGw
(1) e @CemGrr asmSear (:CCly)
(1) dichlorocarbene (:CCly) B
& (2) aLECemCrr Awsde Csrizweal (CHCly)
(2) dichloromethyl cation (CHCly) =
© (3) GaCyr Qusdd edi sweafl (CHCL)
(3) dichloromethyl anion (CHCl,) MEEETCIT GORPE Bt o
@ (4) urfrerod Cpir ufef (E.'-HO )
(4) formyl cation (CHO )
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67.

69.

70.

71.

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1:0-5: 1. AH for the formation |
of XY is —200 kJ mol™. The bond dissociation
energy of X, will be

(1) 400 kJ mol ™
(2) 200 kJ mol™’
(3) 800 kJ mol ™
(4) 100 kJ mol™*

. When initial concentration of the reactant is

doubled, the half-life period of a zero order
reaction

(1) remains unchanged
(2) 1is halved

(8) 1is tripled

(4) is doubled

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) forces of attraction between the gas
molecules

(2) density of the gas molecules

(3) electric field present between the gas
molecules

(4) volume of the gas molecules

Which one of the following conditions will favour

maximum formation of the product in the

reaction, “
Ay (@) +By(g) =X,(g) AH=-XkJ?

(1) High temperature and low pressure

(2) Low temperature and high pressure

(3) High temperature and high pressure

(4) Low temperature and low pressure

For the redox reaction

MnOj; +C,0;~ + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the

balanced equation are

167.

168,

169.

170.

171.

Xy, Yo wppib XY ullerr Senenriiy Gflens <y,mmed
1: 05 : 1erep eflagsdld 2 erarg. XY 2 meunged
AH syemg — 200 kJ mol™. X, afler @epemriin
Yflens g dpeTarg)
(1) 400 kJ mol™
(2) 200 kJ mol™*
(8) 800 kJ mol™
(4) 100 kJ mol™*

aflenerLi (@ Lim(mafieir Qsr_&s Cadley
QouListgn Curg, @m Uhuams efaerudsr
D{enT UMDEY STeh

(1) wbrprg @méEib

(2)  urdumsw

(3) @pbLRBIsTED

(4) @ msTEh

pevedlwiebyy eumy sweruriged Hmsss smyentl @’

@shE AsryeLwg)
(1) eamy ppossmps@ErsdaorCu oder seurss

aflans

(2)  aumy ppesammseien i igd

(3) amy wossmpsEsdoLCu  @MmEELD
Wlebrjeutb

(4) ey ppesenmseiern sarsiene,

Epaar aéGphimaude eifsurs deear@ummer

Qeucilananuiler 2 (Heuns egeUMED, _

(1) <=fls Qeutiuflenew HMID G@DHS i(PSHLD

(2) Gopss QaiiuBleae wonib fs iwssh

(3) @fs Qaunufee LHnD Hs < Wssih

4) @eopps Oaviuflew wLHDDL  G@DHS
2AWSHD

S5EADCarnmn @H&s eflenarimar

MnO; +C,07" + H' —— Mn®* + 00, + Hy0

@)Fer FOTAILIEHILL L SWaTUT g6  edleneTi(d

Gummeien gfluren Gspeurarg

MnO; C,07- H' MnO; C,0}~ H'
1 5 16 1 5 16
2 16 5 2 16 5
(3) 2 16 3 2 16
@ 2 5 16 4 . 2 5 16
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172.

173.

174.

175.

176.

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?
(1) They contain strong covalent bonds in their
polymer chains.

between

(2) They contain covalent bonds
various linear polymer chains.

(3)
(4)

Examples are bakelite and melamine.

monomers.

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1) In acidic (strong) medium aniline is present
as anilinium ion.

(2) In spite of substituents nitro group always
goes to only m-position.

(3) In absence of substituents nitro group
always goes to m-position.

In electrophilic substitution reactions
amino group is meta directive.

Which of the following oxides is most acidic in
nature ?

(1) CaO
(2) MgO
(3) BaO

(4) BeO
The difference between amylose and amylopectin
is

(4)

(1) Amylose is made up of glucose and
galactose

(2) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(3) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(4) Amylose have 1—4 o-linkage and
1 — 6 B-linkage

A mixture of 2:3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO,. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be '

(1) 44

(2) 14

(3) 28

4) 30

They are formed from bi- and tri-functional

173.

174.

175.

176.

172. sn&EEs

Qsrfily  seg  euemelledrerd
ueunses QUImss, Spsa@r. mppseles g
gay sflwurang Geenev ?

(1) veuy shsdlald 2j@mae aialeiwime
s YenentlIL|SeneT 2 anl Ig).

(2) Qaaam CpiGar® weLig
srhsdsEnsda _Cu sslamaTiLseaean
Samer._g).

(3) CGuseeL, Quaamwber @abbinE
THEgEET(HeeTTEHLD.

(4) =oa @rlieL whHmib apben -
dlenarstsmnad emuguilamd e merEb.

auclienwifi, Y oarL_s&dle S afedleir

@5 Cripd m-ep Cyr afdloanyd sHEDI,
& erafled ;

(1) =ve (adowds) e sidld eatdler,
sdfdlafud sweallurs @mé@Lb.

(2) uddSpsar @mpsCurgid ep Crr GgrEs
cuCungid m-@L sz CrrsdCu Qedgid.

(3) uddSPsar @oarsCurs ep Grm OsrEd
aiCungb m-@L sag CrréfGu Geagib.

(4) cosigrer  sef ufSLH  claarsenier

= 8Garr QgTEs m-aulfipL &@Lb.
Epsan s@s@saie ag GQuiesuts iHls
=ufassareiotieL g ?

(1) CaO
(2) MgO
(3) BaO
(4 BeO

=u8Carey  wHpd AICor@usger @l Cu
2 dgrer Caugium._merg

(1) sestardy wppib sres&GLrefiamme

= 6 Camen &H&UILIL Ig (H&EHD

15 4 a-@eenrii] wpmib 1 — 6
c-@eaniienL HNCTE LSy e

QEmeRTiy HEGHD

1— 4 a-@eanriiL bppth 1 — 6
B-@eertiou SGarbusg.en

(s meiTig (H&@&LD

14 a-@eawiiy whmd 1 > 6
B-@aerriieont SGame Gamass HE@b

2:3 g unrfé oufen whgh 45 g seMdls
sfob soma oLi HySO, =2tear eflevar

(2)

{3)

4)

ufdng. Qaeflaumbd enysselar swmen KOH
Hososdear 2o Qsgissuu®dns. STP” e
Bsperer el enen@urefieln eran (g) wreng

(1) 44
(2) 14
(3) 28
(4) 30
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77. Which one is a wrong statement ? 177. a5 @ seuprer sEmbmi ?
(1) The value of m for dzz is zero. (1) dezeém ol Luhuiomi o dreTs).
2)  ‘S-mumI L redld ' QosL jrefe
(2) '.I"ofatl orl_:itaI. angular momentum of electron @ G\Smf;; I_u;%?&‘._[_;mm Gsfwma;'hzﬁ;;
in ‘s’ orbital is equal to zero. LWSSHE SODM 2 drang.
(8) The electronic configuration of N atom is (3) N syamefilinE 2 arer arbla&LTmem ey
1 9nl onl
12 282 2p 2py 2p, 182 282 2P, 2py 2p,
ik : (4) @m <MLL Te® ppeTn GEUTERTLLD ETEISETTE
(4) An orbital is designated by three quantum ; : ) )
numbers while an electron in an atom is @;ﬂu&]%u(%ﬁpgi_ ‘%ﬂ@.m Gl &%Gﬁl@
: p . TG QELFTer  BUeNE  (SeuTeriLd
Mo 'c;eSlg}I:a;e;llby. SRR * eramrsarmed @MU LLGSE DG
78. Consider the following species : 178. @eiamliLseer ar(HFgSCsTaTLTED :
CN*, CN7, NO and CN CN*, CN-, NO wpmib CN
Which one of these will have the highest bond a5l ety sifswrer Gamariygsrsas e g ?
order ? (1) CN
(1) CN (2) NO
(2) NO (3) CN*
(3) CN~ (4) CN~
(4) CN~ 179. Qusafflun e saflvn X) o ér efleear yfibs
79. Magnesium reacts with an element (X) to form an oG swel GCemoses &(5“”&@&'2 (Xz) 5";
ionic compound. If the ground state electronic sl gl o s 13 28 2p
configuration of (X) is 1s® 2s? 2p°, the simplest aafldr, 2&Gaiogflan aaflenvwnar aimiiLnrarg
formula for this compound is (1) MggX,
@) MgX; @ MgX
4) M
(3) MgoX @ 8Xs .
4) MgX, 180. em @muuﬁmc?uﬁlab @y beec el
|80. Iron exhibits bee structure at room temperature. eaLwg. 900°C g Gud o5 frc s@witideg
Above 900°C, it transforms to fce structure. The wrgb. Si@p Gatufleessn, 900°C  uGgid
ratio of density of iron at room temperature to @mwlear oL eldgnreg (@mbler Guomemt
that at &:-)OODC (asg-uming molar mass and atomic Hopub LHpD i@ red Ganufeme
radii of iron remains constant with temperature) ) § )
s Qurss wIDTE @) ®ULSTS CaTam mb)
1
1 n =
e =
(1 2 2
(2) £ (2) j—_§~
J2 2
@ 33 @) —Sﬁ
42 4+/2
w03 @ B
32 3J2
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